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PART - A

General knowledge

A S
1. Match the following - 1. f=faRaa & gafea @ity —
Haveli e
(A) Kanodia Haveli (A) BTIREAT Bl
(B) Seksaria Haveli (B) AimfRAT Y BIq
(C) Rampuria Haveli (C) REYRAT Tl
(D) Ratnakar Bhatt Poundrik’s Haveli (D) ¥HTHR HE GIvsdId B Bdall
Place Rkl
(1) Nawalgarh (i) gerTe
(i1) Bissau (i) faurss
(1i1) Jaipur (iii) STIYR
(iv) Bikaner (iv) dTpTR
Choose the correct code - RTEl /S BT TIT HITY —
(1) (A)-(iD), (B)-(i), (C)-(iv), (D)-(iii) E If: (1) (A)-(ii), (B)-(i), (C)-(iv). (D)-(iii)
(2) (A)-(iv), (B)-(iii), (C)-(ii), (D)-(i) ik (2) (A)-(iv), (B)-(ii). (C)-(ii), (D)-(i)
() (A)-(iii), (B)-(i), (C)-(iv), (D)-(ii) ) (A)-(iii), (B)-(i), (C)-(iv), (D)-(ii)
(4) (A)-(ii), (B)-(iv), (C)-(i), (D)-(iii) (@) (A)-(ii), (B)-(iv), (C)-(i), (D)-(iii)
(5) Question not attempted () ergaRd ue
2. Which statement is Not correct about Sawai Jai . [aTS SAfE B 9Ny H Bl AT A Tl
Singh? {4
(1) Made laws to reduce expenditure in the (1) Iogal @ fqaE § &9 @d H D BT
marriage of Rajputs. 17 |
(2) He built the Nahargarh Fort. (2) I ArexTe g ®1 AT fear oy
(3) Founded observatories in Mathura, Ujjain, (3) #HYRT, I, SR, R Yd SN i’
Jaipur, Banaras and Allahabad. TETITATT Y TRATIAT BT |
(4) ‘Jij Muhammad Shahi’ was composed at this (4) <1 ggig emEr @Y Yo s 9HT @
time. NER
(5) Question not attempted (5) Ir=IRa U=
3. Which of the following Rajput ruler defeated the - = A e oYE e A ARTR B e
Sultan of Malwa in the “Battle of Sarangpur™? H Arerar & HedT- BT R fHar oar?
(1) Rawal Ratan Singh (2) Maharana Pratap (1) <9 ¥aq g (2) ABWRIOM Yag
' (3) Maharana Kumbha (4) Hammir Chauhan (3) HEWRIO BT (4) e=IR FIEE
(5) Question not attempted (5) asrg=ilRa ueA
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- Which members of Alwar Prajamandal were

arrested for giving support to the movement
against fee hike in schools?
(A) Raghunath Singh Mehta
(B) Laxman Swaroop Tripathi
(C) Magharam Vaidya

(D) Hari Narayan Sharma
Choose the correct code -

(1) (A), (B), (C) and (D)

(2) (B) and (D)

(3) (A) and (B)

(4) (C)and (D)

(5) Question not attempted

- Match the following goddesses’ fairs with their

places in Rajasthan -

(Goddess) (Place)
(A) Latiyal Mata (i) Basantgarh
(B) Seemal Mata (ii) Nawalgarh
(C) Chhinch Mata (ii1) Pokaran
(D) Sakraya Mata (iv) Banswara
Select the correct answer -
(1) (A)-(ii). (B)-(iv), (C)-(1), (D)-(iii)
(2) (A)-(iii), (B)-@), (O)-(iv), (D)-(ii)
) (A)-(iv), (B)-(iii), (C)-(ii), (D)-(1)
@) (A)-(1), B)-(ii), (C)-(iii), (D)-(iv)

(3) Question not attempted

« Where is the Jewellery ‘Okhari’ worn?

(1) Ear (2) Nose
(3) Hand (4) Neck
(5) Question not attempted

- Who was the ruler of Mewar during Sultan

Itutmish’s Campaign?

(1) Samar Singh (2) Ratan Singh
(3) Jaitra Singh (4) Tej Singh
(5) Question not attempted

- Which of the following statement is FALSE

about women’s clothing?

(1) A red colour Odhani is worn on the occasion
of the birth of a son.

(2) There is a tradition of wearing Phagadiya on
the occasion of Holi.

(3) Multi-colour Lehariya is worn on the
occasion of Tee;.

(4) The Odhani is decorated with keer lace and

lappe.
(5) Question not attempted

- el H 9 gig @ R # ge stiee

Ed
R H rdaN ywHvsSS @ b wel @t
Rgar fear Tar?
(A) vgT R Agr
(B) T1eHUT Xawy AUrdt
(C) HgR™H de
(D) R =RTIOT T
el BT BT FIT PTG —
(1) (A), (B), (C) 3R (D)
(2) (B) 3R (D)
(3) (A) 3R (B)
(4) (C) 3R (D)

(5) argaRd wed
- IoRgE H fAEifea <ot & Al @1 S
WA | gAferd iy —
ikl (F1m)
(A) SAfeaTer Arar (i) I9=<7Te
(B) ¥\l HIaT (i) T TS
(C) = AT (iii) 9TepYoT
(D) FHITT HIGT (iv) IrFaTsT

8l SR BT Ig+ By —

(1) (A)-(ii), (B)-(iv), (C)-(i), (D)-(iii)
(2) (A)-(iii), (B)-(), (O)-(v), (D)-(ii)
() (A)-(iv), (B)-(iii), (C)-(i1), (D)-(i)
(4) (A)-(1), (B)-(i1), (C)-(iii), (D)-(iv)
(5) sraRa

- SIVUCT ‘IIRERI’ HEN YA AT 87

(1) &= (2) 919
(3) B (4) e
(5 srgaRa g

- Gl TogIAY B I & SR AATS Bl

TTTd BIF AT?

(1) 99= 4 (2) w9 Rig
(3) o= g @) o= e
(5) <R ueA

- gl & o=l @ fQug ¥ fA=ifea § 9 a9

BT I 8?7

(1) 931 977 & IR TR &l T BT g+ ug+l
ST B

(ﬂ%ﬁ?ﬁgﬁmwwﬁm g BT Rara
SR

m;ﬁﬁrtﬁwwa@w’ R ggar Sren
l

(Mgﬂﬁaﬁaﬁ'\'ﬁéﬁmaﬁﬁmm
|

(8) Srg=IRd we
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9.

Which of the following weekly newspaper was
published from Alwar in 1937?

(1) Alwar ka Kaccha Chittha
(2) Rajasthan Samachar Patra
(3) Alwar Patrika

(4) Tej Pratap

(5) Question not attempted

= 9 9 @ arafRes a9Er o 1937 3
AR A DI G 27?

(1) sreTaR &1 FH=ar fgT

(2) ISRRIE HHER 9

(3) ererar ufarmT

(4) T gamg

(5) Irg=IRa ueA

10. Which of the following painter drew several 10. {arg $3ad) Rig & ora ¥ A=forRag & & fr
paintings of fights of animals and birds during fEeR 7 y—uftEl @ gef & sme e g
: SRl o o
Sawai Ishwari Singh’s period? - 1) & @ e B
(1) Heeranand (2) Lal Chitara A »
(3) Trilok (4) Ramjidas ©) “
(5) Question not attempted () srgaRa =
11. Who was the elected leader of Ajmer during its ~ 11. 7o W0 & IR @ fAel-Nexo & SRME
merger in Rajasthan state? TR @ faifera =ar & or?
(1) Tika Ram Paliwal (2) Hiralal Shastri (1) Sre1 ¥ grelara (2) ERTelTd Il
(3) Manikya Lal Verma(4) Haribhau Upadhyay (3) =iftre ot Tt (4) BRYTS SuEI™
(3) Question not attempted (8) R ue
12. Which of the following fact is Not correct 12 ISl gRT Al & fASIE &1 949 B3 3q fHA
regarding the efforts made by the British to Tyl J FEifea § | sear a2 |98 18
suppress the rebellion of the Bhils? =14
(1) The headquarters of ‘Mewar Bhil Corps’ was (1) Fars AT B’ BT AT ISTR Y
set up in ‘Kherwada’ in Udaipur State. ¥ ERarer ¥ war 74|
(2) The Br.itish had formed the ‘Jodhpur Legio_n’ (2) SHrST ¥ T A B T 3 1836 €
army in 1836 AD to suppress the Bhils 3 W AT T FT ST AT o
through military. e :
(3) CH SEQR e &l qTey 3TSTHR
(3) In 1837_AD, headquart'ers of Jodhpur Legic.)n ;83%%]?[ e i el e B
was shifted from Ajmer to Badgaon in
Sirohi. : £ S 5
(4) ‘Mewar Bhil Corps’ was established in 1838 (4) 1838 §. & Fars Mol P B werwT B
AD. T ot |
(5) Question not attempted (5) orgaRa we
13. Which of the following community is not a 13- /1 % ¥ BT W™ Se ureid &1 &7
Camel Herder? (1) <repr () gadferE
(1) Raika (2) Kuchbandiya e i
3) =Efear 4
(3) Chawandiya (4) Maru & s
(5) Question not attempted (5) SrgaRd we
14. Which of the following Text is not composed by 14 f/=7 # ¥ BRI =T STGIeTd BT &1 27
Diayaldas? (1) gora ara= (2) AR arE
(1) Sujas Bavani (2) Datar Bavani  [E3[E
] Cyor 3 4
(3) Ajas Ekkisi (4) Jas Ratnakar E%g @) oy SR e
(5) Question not attempted : (5) rFART e
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15. Who among the following was/were the
founder/s of “Shekhawati Kisan Sabha™?
(A) Harlal Singh (B) Netram Singh
(C) Ghasi Ram (D) Tadkeshwar Sharma
Choose the correct code -
(1) Only (A)
(2) (C)and (D) (e[l
() (A), (B), (C) and (D) =l

16.

17.

18.

19.

20.

(4) (A) and (B)

(5) Question not attempted

Which of the following ruler was captured by

Maldeo after attacking Jalore?

(1) Rao Jaitsi (2) Daulat Khan

(3) Sikandar Khan (4) Viramdev

(5) Question not attempted

Which of the following archaeological site is not

related to the Ahar culture?

(1) Alod (2) Tilwara

(3) Ojhiyana (4) Keli

(5) Question not attempted

Which of the following inscription does not

mention the subject of Bhagavata (Vaishnavite)

religion in Rajasthan?

(1) Barnala inscription

(2) Basantgarh inscription

(3) Ghosundi inscription

(4) Barwa pillar inscription

(5) Question not attempted

‘Fargati’ is related to which of the following

social customs?

(1) Child Marriage (2) Nata

(3) Sati (4) Dowry

(5) Question not attempted

Which fact about Neelkanth (Alwar) is FALSE?

(1) This place is also known as ‘Naugaja Jain
Tirtha’.

(2) Ganesha statue here is in dancing posture.

(3) It’s an ancient Shiva temple situated on a
lonely hill.

(4) There is a huge statue of Hanumanji in
sleeping posture.

(5) Question not attempted

15.

16.

17.

18.

19.

20.

1 95 3 o9 I fSaE 9 @
HRRITY®E / FEeaTadhl | aftafera em /97

(A) BT RiE (B) o= Rig
(C) TR (D) ATS®HTAR TTH
el e BT IIT DHIoTg —

(1) Pael (A)

(2) (C) 3R (D)

(3) (A). (B), (O) 3R (D)

4) (A) 2R (B)

(5) IrRd e

Hioied A STAR UR JATHHY Y AeferRad § 9
o s BT S 99T oar?

(1) <19 Sraar (2) <rerd @@=
(3) Ryp=x @™ (4) drEeq
(5) gRd ued

=T H I RIS ATES AR o Ao
el 87

(1) 3ralrg (2) forerarer
(3) snferarr (4) Pl
(5) IR weA

fr=ifea 5 | 9T ifierg o= ¥ 9T
(@wra) g9 & A9 7 Socoi g T FHeaT &7
(1) 31T 3fere

(2) gHTTe Ifaerg

(3) =T e

(4) ggar wy fere

(5) Ig<IRT A
?ﬂﬁ@ﬁmwﬁﬁmumﬁ’wﬁ'mﬁ
L4

(1) g1 faars (2) =rar
(3) T<h (4) T
(5) argaRd ued

HHvs (JrcaR) @ fAvg § HI9ar 929w

27

(1) 39 IF &7 F0rTar oiF el oY w8 Siar
2l

(2) =€l 77 a1 ¥ Torer ufomr ¥

() I8 udmre! el wR Rea = B 5w
g1

(@) gl W TF a1 H 'gEE S @) fEne
ufaer g

(5) srgaRa ==
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21.

22,

23.

24,

25.

26.

As per Koppen Climate Classification, “BWhw”
climate is found in -

(1) Kota, Bundi, Jhalawar

(2) Bikaner, Jaisalmer, Jodhpur

(3) Jhunjhunu, Sikar, Alwar

(4) Jaisalmer, Sikar, Barmer

(5) Question not attempted

Consider the following pairs (Minerals - Site of
Mining) and identify the wrong one -

(1) Tungsten — Deva ka Bera

(2) Garnet — Kalakhunta

(3) Asbestos — Rishabhdev

(4) Emerald — Gogunda

(5) Question not attempted

Which type of soil is largely found in Kota,
Bundi and Jhalawar?

(1) Hilly soil

(2) Deep Medium Black Soil

(3) Yellowish Brown Soil

(4) Riverina

(5) Question not attempted

According to Census 2011, the districts with
maximum and minimum rural sex ratio in
Rajasthan respectively are —

(1) Banswara and Jaisalmer

(2) Dungarpur and Dholpur

(3) Jaipur and Sriganganagar

(4) Pratapgarh and Bharatpur

(5) Question not attempted

In which year Directorate of Environment and

Climate Change (DOECC) was established in
Rajasthan?

(1) 2022 (2) 2021

(3) 2019 (4) 2020

(5 Question not attempted

Which of the following is a CORRECT match?
(1) Malkhet — Central Aravali E3E
(2) Dhonia Dungar — Central Aravali % )

(3) Nag Pahad — Southern Aravali
(4) Bhojgarh — North Eastern Aravali
(5) Question not attempted

21.

22;

23.

24,

25.

BT SAaryg FAEOT B ATAR, “BWhw”
STerary iy SRl ® —

(1) rer, <1, SATaars

(2) fIBTR, STHPR, ARG

() =, AR, TR

(4) SraeR, W1, 9reiR

(6) srgaRda g=A

frr=feRad g (@ e — @99 @) ) R
PINTY AR TAd JH A ggar B —

(1) SReq — <a1 &1 9

(2) aHST (TTFie) — HTaRger

(3) TEReH — veq

(4) 9T (UAReS) — TIR=T

(5) sgaRda s

PICl, gal dAT ATAErg H AHiv: e gar
@1 YT 918 Sl 87

(1) wddirr Ja

(2) el He2TH Freil gaT

(3) bl 8 HaT

(@) RaRar

(5) argaRa g

SO 2011 & AR, TSI H SAferdad g
=AE AT fefigua arer foTel e § —
(1) dradarsT vd SgeR

(2) $TRYR Ud IegR

(3) SIYR Ug AR

(4) YdTITe Yd ¥RAYR

(8) sraiRa ueA

o H {5 9 ugfeRer gd Stearg 9Rkad|
<@ (DOECC) &1 a0+ 3t 187

(1) 2022 (2) 2021
(3) 2019 (4) 2020
(5) rgaRa U

- frr=faRad A & ®i9ar g3 |81 87

(1) AT — AT NGl

() ifrr R — 7 aRTEe
(3) =T UgTe — il aRTget!
(4) HISHTe — IR Y4l 3RIael!
(5) IrgaRa g
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27.

28.

29.

30.

31.

Match List-I (Source of energy) with List-II
(Site) and choose the correct answer from the
code given below -

List =1 List —II
(Source of energy) (Site)
(A) Wind (1) Mainawali
(B) Hydroelectricity (1) Anta
(C) Solar (iii) Bithadi
(D) Natural gas (1v) Anupgarh
Code —

(1) (A)=(iv), B)-(1), (C)—(ii), (D)—(iii)
() (A)-(id), (B)(iv), (C)—(1), (D)—(ii)
(@) (A)-(1), B)-(i), (C)(iii), (D)—(iv)
@) (A)-(i), (B)—(iii), (C)—(1iv), (D)-()
(5) Question not attempted

Which one of the following pairs
(Irrigation Project — District) is NOT correctly
matched?

(1) Sidhmukh — Bikaner
(2) Jakham — Pratapgarh
(3) Yamuna Link Canal —
(4) Bisalpur — Tonk

(5) Question not attempted

[El=5[E]
=

Bharatpur

Which among the following is a variety of Rice?
(1) Kohinoor (2) Mahi-Sugandha

(3) Raj—911 (4) Sonalika

(5) Question not attempted

Which of the following district does not have
Tendu Forest?

(1) Alwar (2) Bundi

(3) Udaipur (4) Kota

(5) Question not attempted
Among the following statements about Mid-Day

" Meal Scheme, which is WRONG?

(1) It provides nutritional support to children of
elementary stage in drought-affected areas
during summer vacation.

(2) In the year 2009-10, the scheme was
extended to the students of upper primary
classes.

(3) The National Programme of Nutritional
Support to Primary Education was launched
in 1995.

(4) The objective of this plan is to encourage
poor children belonging to disadvantaged
sections to attend school more regularly.

(5) Question not attempted

27.

28.

29.

30.

31.

a1 (Sell & 9d) & ga-10 (=) 9
gHferd EHQ?“f 8Y A Ry 71y e # & | s
w1 T BTG —
-1 5l |
(ot & ) (=)
(A) ga (1) HATge
(B) &ie1 fagga (i) =T
(C) ¥R (iii) faerst
fD) wﬁw T (iv) TS

(1) (A)—(1v), B)—(D), (C)—(i1), (D)—(iii)

@) (A)=(iii), B)—(iv), (CO)—(1), (D))

@) (A)—1), (B)—(ii), (C)(ii), (D)—(iv)

(4) (A)—(iD), (B)(iii), (C)—(iv), (D)-(i)

(5) gl vz

fF=faRaa gl (=g aRarssr — fren) § @
DI gAferd Ael &7

(1) RggE — e

(2) STrE@q — gdaie

() TgAT fofp 8% — WRAR

(4) drEaR — <o

(6 srgaRa g
fF=feRed 9 IRl amaa &1 fey 22
1) PER (2) #ET—gTen
() wor — 911 @) ArTferast

(5) IR we

f=foRed & 51 fow e & dg & 99 =gf 87

(1) sreter (2 g
(3) SeaR @) Brer
(5) SrgaiRe U

Wﬂﬁaﬁfma%aﬁﬁﬁwﬁmﬁﬁ@

PIFAT FAUT Tald 87

(1) g HEHEE & SR Adha—dfea &=f
H URM® WX P gl bl qiNer gEeEl
HETIAT USTH Hal 2 |

(2) a¥ 2009-10 ¥ T HHH B =T UrAfAS
werl & fqenfefal & ford ff e & e
T |

(3) urifas REem # Uwor gw=l AgIar &
I BB 1995 H &R fasar ar o |

(4) 39 FIPHH &1 I AHdfg Tl B TWe
g B It Fafa wme o & ol
ureATed HRAT

(5) srgaRa ue

93 -
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32.

33.

34.

To promote education and research of the

specially-abled people, which of the following

Divyang University/Universities established in

Rajasthan?

(A) Baba Amte Divyang University

(B) Dr. Ambedkar Institute of Technology for
Divyangjan

(C) Mahatma Gandhi Divyang University

Choose the correct answer from the code given

below -

(1) (A) and (B) (2) (C) and (A)

(3) (B) and (C) (4) Only (A)

(5) Question not attempted

Given below are two statements as Assertion (A)

and Reason (R) -

Assertion (A) : Strategic projects such as

Delhi-Vadodara-Mumbai and

Amritsar-Jamnagar Green 0l
i Expressways 2
Corridor Expressways are

transforming Rajasthan into a
key economic hub.

Reason (R) : These corridors improve
transportation efficiency, reduce
travel time and strengthen safety
while connecting major economic
centers.

Choose the correct answer from the options

given below -

(1) (A) is false but (R) is true

(2) (A) is true but (R) is false

(3) Both (A) and (R) are true and (R) is the

correct explanation of (A)
(4) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(5) Question not attempted

In Rajasthan, modified budget 2024-25

presented 10 Sankalp for Inclusive growth,

among them which is not included?

(1) Economic Security

(2) Good Governance

(3) Quality of life-Civic Amenities

(4) $350 Billion Economy

(5) Question not attempted

32. a9y graeE @1 R AR FHYE @ geral

33.

34.

e B fog woremm ¥ f=faRea 5 @
dFaT/d fRagm . Quafdarew wenfug
far / f5d T /3 &2

(A) d9ma1 e et Rwafieneaa

(B) Sf. srdsax fegie Wienfiier

(C) #eTer e fearrr favafdeney

e R T wme § ¥ WE SR @1 gaa

BISTY —

(1) (A) T2 (B)

(3) (B) 921 (C)

(8) IrTaRd weA

T &1 BT AMHAT (A) 3R HRT (R) &g 79

¥ _

IfHeE (A) : fedi—aser—dgas @ik
SHTER—SHTR U HIRSR
TRAYAd ST OIS
URATSHEN IR BT Uh
Agayul e &= & w9 A
fawfia & & |

BRI (R) : ¥ BINSRK uRaE" T&dr $I derdl

G Bl 3¢ B U U 3T
el B JMTH H Sred ¢ |

I Ry v fAeet § 9 98 St &1 99+

PBITY —

(1) (A) Tord & oifda (R) 98T &

(2) (A) 9T & ofbs (R) TaAa 8

(3) (A) @ (R) <91 W&l & a7 (R), (A) &1 H&!

FRAT HIAT &
(4) (A)TT (R) ST HET & oIfd (R), (A) 3T 981
ARAT &l BT &

(5) r<Ra ueA

JORIE @ gRafda a9ie 2024-25 H Ugd

el fae & 10 ooy #, 7991 d 9§ di=an

aftafer =51 8?2

(1) anfe e

(2) gzma=

(3) it &1 oreAT—RTRS iy

(4) 350 faferas Sfar ($) @1 seicawn

(5) srgaRa ued

(2) (C) T (A)
(4) g (A)

93

-®
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35.

36.

Consider the following statements related to
Lado Protsahan Yojna -
(1) This scheme was
1% July, 2024.

The

discrimination,

implemented from

(i1) scheme aims to prevent gender

improve education and
health, reduce maternal and child mortality
rate and combat the evil practices like child
marriage.

(ii1) In this scheme, financial assistance of
T 2 lakh is provided in seven installments,

payments

parent/guardian and the seventh directly to

with  six made to the

the girl child’s bank account.
Select the correct answer using the code given

below -
Code -
(1) Only Giii) is true e
(2) Only (ii) is true =l

(3) Only (i) and (ii) are true
(4) Only (ii) and (iii) are true
(5) Question not attempted

Consider the following statements -
Statement (A) - National Institute of Solar

Energy assessed 284 GW solar
energy potential of Rajasthan.

Statement (B) - National Institute of Wind
Energy has assessed wind
power potential in Rajasthan as
142 GW at 150 m height from
ground.

Which of the statement/s given above is/are

correct?

(1) Neither (A) nor (B)

(2) (B) only

(3) Both (A) and (B)

(4) (A) only

(5) Question not attempted

35.

36.

ST UieATes ANl o Gafa 59 deEl )

faarR Pifeg —

(i) I8 o1 1 TS, 2024 F YR B TS |

(i) 3 oM BT e il JTHT BT JH
BT, B 9 WReg d guR oM, "G 9
Rl 9] R B FH TIAT AR 91 e
ST TRl B A HRAT B |

(iii) 39 ToHT & d8d 2 @ T @1 fa<ig
wEIar 9 fewa § usE @ W) g,
Rt w fhed afvmes /e o1 <
T # A wr=ialRa & ot 2

I fAT T e BT YT BRI §Y el SR B

a9 HIfoTg —

a—é\?‘ —
(1) ®aa (i) T8 ©
(2) ®ger (i) T &

() Baer (i) T (i) 9L

@ ad (i) T (iii) 9T &

(5) 3rgxaRa uz=

= wuEl W) s SR —

FUH (A) — T AR Goll G 7 ST
# 284 RTdfe AR Soll &l
FRTAT BT STFHE ST § |

BUA (B) — VI TAT Sl HRAM ISR

H 9 9 150 Hiey IW
142 IRTdie &Y a1 Soll &Hdr B
g1 9a1S 2 |

SR 2 ®wEl # | dEar/d 98 2 /87
(1) 7 a1 (A) 3R =1 T (B)

(2) Saa (B)

(3) (A) 3R (B) =Fl

(4) Baa (A)

(5) <R weA

93-®
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37. Select the correct code about - Name of Act and

38.

Year of Enactment.

(i) The Rights of Persons with Disabilities
Act - 2016

(11) Sexual Harassment of Women at
Workplace (Prevention, Prohibition and
Redressal) Act - 2014

(111) The Juvenile Justice (Care and Protection of
Children) Act - 2000

(iv) The Muslim Women (Protection of Right
on Marriage) Act - 2019

Code -

(1) Only (ii), (iii) and (iv) are correct

(2) Only (1), (iii) and (iv) are correct

(3) Only (i), (ii) and (iii) are correct

(4) Only (i), (ii) and (iv) are correct

(3) Question not attempted

Consider the following statements regarding

Agriculture Infrastructure Fund (AIF) of

Rajasthan.

(A) Agriculture  Infrastructure  Fund  of

¥ 1 lakh crore was announced by the Central

Government to create farm  gate
infrastructure for farmers.

(B) Under AIF an interest subsidy of 4 percent
per annum is given on all loans upto the
limit of 3 crore.

Which of the above is/are true?

(1) Only (A) is true

(2) Only (B) is true

(3) Neither (A) nor (B) is true

(4) Both (A) and (B) are true

(=] [E]
1 al
[l

(5) Question not attempted

37. gy &1 9T 9 ST UiRd 89 B 99 B

IR ¥ el THE BT TG DIt |

(i) FRegReE affeR R s — 2016

(i) oRieE W) ARARl &AM Sded
Ripamm, g ok faro) sfEFmE —
2014

(i) fPeiR = (F=a7 BT T@HTA AR FETT)
sffer=a| — 2000

(iv) gRem #Afken  (fQare aiffer HReron)
s — 2019

we —

(1) @ae (i), (i) AR (iv) 91 &

(2) @ae (i), (i) 3R (iv) 9ET &

() @ae (i), (ii) AR (i) &1 &

(4) Taa (i), (i) @i} (iv) 981 &

(5) srgaiRa gz

38. TR & P JAEATT DY b d=4 H

Al W AR B |

(A) P WRBR ERT $UB & ford B e
g & Ao & oy
U @Rd FRIE D BV IGETTAT BT DI
A BT =IO BT TS &Y |

(B) 39 &I (AIF) ¥ 3 HxIS &I I O D
T Tl W 4 yRerd wREs @7 e
e faar e 7

SRS # § ST/ H Hal & /8?

(1) Tt (A) T &

(2) adt (B) 9 &

(3) 7 4@ (A) 3R AT T (B) I &

(4) (A) MR (B) AT T &

(8) srgRa e

93-©@
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39.

40.

Which of the following services are provided

under Comprehensive Primary Healthcare

(CPH) at Ayushman Arogya Mandir?

(i) Care in pregnancy and child-birth

(ii) Childhood and Adolescent Healthcare

Services
(ii1) Basic Oral Healthcare
(iv) Emergency Medical Services Including
Burns and Trauma

Select the correct answer using the code given

below -

Code -

(1) @), (i), (iii) and (iv)

(2) Only (i), (i) and (iii)

(3) Only (i) and (i1)

(4) Only (iii) and (iv)

(5) Question not attempted

Consider the following statements related to

power generation capacity of Rajasthan -

Statement (1) : The Compound Annual Growth
Rate (CAGR) for total power
generation has been 4.08
percent from 2020-21 to 2023-24.

Statement (2) : Solar power has expanded at a

CAGR of 20.57 percent while

wind power has grown at CAGR
of 5.30 percent for the same
period.

In the light of given statements, choose the

correct option from the following -

(1) Statement (1) is false and Statement (2) is
true

(2) Both Statements (1) and (2) are true

(3) Both Statements (1) and (2) are false

(4) Statement (1) is true and Statement (2) is
false

(5) Question not attempted

39.

40.

IRFY Hfex H Wy Ui wey
T4l (MIdiga) & dsd = # | P
JAT¢ U P ST B2
(i) TiaRRIT U9 gedil B O @ HHT SwEHTel
(ii) Wﬁllﬂﬁﬁla U fhReiRmaReT wWRen  SxgdTe
(iii) giramel g ey Hard
(iv) ﬁ@mw@amﬁq%ﬁa—cm
- Y 1Y gie &1 YA A §Y HEl SR Bl
T BHINTT —
af_
(1) (1), (i), (ii1) 9 (iv)
(2) @ad (1), (i) T (iii)
(3) dad () T (ii)
(4) @ad (iii) T (iv)
(8) srgaRa we
TSI & Sl ScaIe &HaT I Hafa =
HAEl IR faar Hifve —
A (1) : 2020-21 4 2023-24 TH HA Soll
S &1 Hhferd e gig &
(F.YSiamR.) 4.08 uftrera & 2
: 341 3l & <R 9R SoIT § 20.57
gferera ALUSLaR. &1 R 4 gfE g3
2 Safd uad St # 5.30 ufese
A UShaR @ R 9 IfE g3 B
fag U SuAl B g F I@d gy, FreforiRad
¥ 9 931 fddeq &1 997 Fig —
(1) P (1) TAd 2 dAT HA (2) |98l B
(2) SFF T (1) 92 (2) T &
(3) TMT ®AF (1) TAT(2) TTerd B
(4) FF (1) 9& & TAT HUH (2) Tad &

(8) argaRa Uz

DA (2

41. In May 2025, the office of Federal Chancellor of  41. Hg 2025, § S+l & WU IGaR BT UGHR
Germany was assumed by - gy fear —
(1) Robert Habeck (2) Lars Klingbeil (1) e &89® A (2) o foetTdia =
(3) Friedrich Merz (4) Olaf Scholz (3) wsR& 75 A (4) IATH whlewd =
(5) Question not attempted (5) TR e
42. The Man of the Match of the final match of  42. g 2025, # =SrTe # ARG ARl 36 <
Marshal of the Air force Arjan Singh Memorial TR B aroiF Rig F9iRae g Tfde, 2025
Hockey Tournament-2025 held at Chandigarh in @ Breae Y B 39 aife T ¥y o —
May, 2025 was - .
(1) Atuldeep (2) Amritpal Smgl@%s (1) srgered (2) srgaarer Rig
(3) Sukhwinder Singh (4) Praveen GhoshEl: @) gufi=x R (4) gdior =y
(5) Question not attempted (5) argaRa Uz
93 - Page 11 of 52



43.

44,

45.

46.

Recently, Rajasthan’s Deputy Chief Minister
and Tourism Minister Diya Kumari was honored
with the title of Woman Tourism Minister of the
year, India. This honor was given in -

(1) Hamburg, Germany (2) Tokyo, Japan

(4) Osaka, Japan

(5) Question not attempted

For which field was Baijnath Maharaj of
Rajasthan awarded the Padma Shri in 20257

(1) Literature and Education

(2) Art

(3) Spiritualism

(4) Public Affairs

(5) Question not attempted

(3) Berlin, Germany

Consider the following statements for the

committees formed for the Rajasthan Legislative

Assembly in April 2025 and choose the correct

option —

Statement A : Hamir Singh Bhayal has been

nominated as the Chairman of the

Petition and Ethics Committee.

Statement B: Umesh Meena, Prashant Sharma
and Gopal Lal Sharma are also
Members of the Petition and Ethics
Committee.

(1) Both statements (A) and (B) are true

(2) Both statements (A) and (B) are false E?-_: A0
(3) Only statement (B) is true (=]

(4) Only statement (A) is true

(5) Question not attempted

Which statement is NOT correct for ‘Rajasthan

Textile and Apparel Policy 2025°7

(1) For the first time, garment manufacturing
sector has also been included in it with the
aim of encouraging exporters.

(2) It provides for asset creation incentive for

10 years.

(3) It provides 25% reimbursement on freight

charges to export units.

Under this policy, a provision of 50%

reimbursement up to ¥ 7.5 crore has been

made under Green Solution Incentive.

(5) Question not attempted

(4)

43.

44,

45.

46.

B & H, NN 31 SU-J&HAl iR e
=1 1T GANT BT gE gRon AR o €
IR, 3T & IWH & 9T far | 9w
[qHE fear ar —
(1) g=f, SHAT H
(3) gfelH, &+ o
(8) Irg=Re we=
IO & IOl HERIS BT 2025 § fha &=
o forg g=1sht & w=faa fosam wmar an?
(1) e wa f3rem
(2) Fer
(3) IegTHAE
(4) FrpeTd
(5) Ir<IRd we=
e 2025 H wrowerH faursr & forg msa
afaftal & forg f=fafRag soAl w® e
Iy vd Fal fAwer gfhg —
HAA A: I Ud Fa[R FiHfd B Fagid
TR g e &1 "9 fear Ty §
HUH B: et Ud weraR afffa #§ s Ho,
TSI ¥MT U4 T ot S |
[ B |
(1) ®H (A) AR (B) SHI ¥ &
(2) FUF (A) 3R (B) TH1 3T &
(3) Badt HUF (B) 9 ©
(4) Badl FUF (A) T &
(5) srgafa ue
RIGIRE CRACISH Uus TR giferdl 2025 &
g T HUE wE T8 27
(1) o+ Fafas! & dicaed o9 @ Se%d 9
Bl R TRAC AGHaaT Haex Bl A
nfAe far Tar 2
(2) 399 10 aui & e fhueM ssfea @
TGN 2 |
3) zud fufg soEdl &1 ®e I W
25% GHROT T UTGET T AT § |
@) z9 N § 9 difegye e & dga
7.5 @0 TqDd 5S0% YHRUT DT UTaeIT= Rl
T R

(5) Irg<iRa we

(2) eren, SaE H
(4) 3Tt STaE H
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47.

48.

49,

50.

Which of the following statement is NOT correct
for the ADMM-Plus Expert Working Group on
counter-terrorism meeting held from 19 to 20
March, 2025?

(1) The meeting was co-chaired by India and
Malaysia.

(2) The co-chairs announced the conduct of
Table top exercise of EWG on Counter
Terrorism (CT) in India in 2026.

It was the 14™ meeting of the group.

It was held in New Delhi.

3)
(4)
(5) Question not attempted

India signed the Terms of Reference (ToR) for a

Comprehensive Economic Partnership
Agreement (CEPA) with which country on
May 8, 2025?
(1) Bhutan

(3) Germany

(2) Chile

(4) Singapore

(5) Question not attempted

How many total medals did Rajasthan win in
‘Sanda’ at the 8" Federation Cup Wushu
Championship held in Bilaspur, Chhattisgarh
from 24 March, 2025 to 28 March, 2025?

(1) Ten (2) Six

(3) Three (4) Fourteen

(5) Question not attempted

For

conversation, the Rajasthan government has

grassland conservation and gharial
recently announced to establish gharial rearing
centre in which of the following regions?
(1) Pali ghat, Sawai Madhopur

(2) Divya ghat, Karauli Q. =
(3) Gumsh ghat of Mandrayal Range [Elxee
(4) Shankarpur ghat, Karauli

(5) Question not attempted

47.

48.

49.

50.

TdeBaTE ¥ FHTES T UL AT s

SR AR B 19 ¥ 20 A, 2025 qF A

B T3 dod @ forg =faRad § 9 si9ar e

NEES BT

(1) 39 Jo& @1 AT LAl 9T 3R FI3rn
T P el

(2) We—ategedl 7 2026 § RA ¥ addpare o
ghEd (W.8L) R <ol & fou <qa
Y 3T IS B BT B0 BT |

(3) g8 wHE &1 14 4 9o@ o)

(4) sH&HT M 8 Aot & fvar am|

(5) el we

YRA 7 8 A 2025 BT D A ArEem

wHEd (@dqe) & forg wef wal @ aiam)

R f&a qer & |1 swaerR fey?

(1) e ) fRref
(3) SHiY (4) RimgR
(5) srg=iRa wed

fdeagR, B<ivgTe & 24 71 2025 ¥ 28 914
2025 & Hed SN 33T HSRW $HY gL
AR # wier § IoreE 3 B
qad S

(1) < (2) o
() = (4) Higs
(5) srgaRea gz

ISR WRBR A BT & A f=feRed § 9§
fd &= o afsara grem @ wenfia o< &
=Y Y 82

(1) areiraTe, ward AR

(2) feagre, Hren

(3) Hev@e ¥ © [HI =S

93-®@
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PART - B

Geology Hfasm=
51. Which of the following list contains aluminium  51- fF=feRag 4 & vogHifag® & sl &1 At
ores? ST B2
(1) Chalcopyrite, Covellite, Malachite (1) TTePIUTERTSS, BIAATSE, HelThIEc
(2) Cerrusite, Anglesite (2) JovIEe, YaTSe
(3) Sphalerite, Smithsonite,Hemimorphite (3) ThoRiege, RMeRiAse, 2 Hmise
(4) Diaspore, Boehmite, Gibbsite (4) SR, diEase, MreEwEe
(5) Question not attempted (8) srgaRa =
52. Which is the second most abundant oxide 52. #HEEMT Uidl # TERT HaifOd UgR afkerd
occurring in the continental crust? 3ffFarss HIAar 87
(1) FeO (2) ALLOs; CIEA0) (1) FeO (2) ALOs3
(3) CaO (4) Si0> ‘@]@ (3) CaO (@) SiO,
(5) Question not attempted ; (5) e ==
53. Which of the following statement is FALSE for  53. fa=faRaa # @ @9a1 &9+ Yadoliscd &
Eclogites? e # o 87
(1) They  represent  ultra-high  pressure (1) I I H TI19 HTATORYT A € |
metamorphism. (2) 579 SiFhEEe USRIGEE U& & HCh
(2) They have omphacite pyroxene as a major BT 2 1
component. (3) 9 U wifordrgers sidaT & |
(3) They contain andesine plagioclase. (4) T4 TTMie Ud A<yl @il & w9 H sral
(4) They contain garnet as a significant mineral. ]
(5) Question not attempted (5) IaRa g
54. Which is the youngest group of Bastar Craton? 54. AR welA &1 HITAl WY AIH HH A BT &7
(1) Bengpal Group (2) Amgaon Group (1) <yt | g (2) 3mTg |y
(3) Chilpi Group (4) Bailadila Group (3) fredt wg (@) genfeer v
(5) Question not attempted (5) rg<IRa A
55. In Schlumberger arrangement, geophysical 55 TEHER SRR ¥, YoIdl <Y B YHITH™
method for ground water exploration is related to fafer fa=forfRag § 9 v @ d&dfoa 2°
g;uch .of t.he Iio:clowy'ng? il (1) @i saad fafy
o gitlsm}c e raf:tl.OI‘l metho () fae SRR Afer
ectrical Resistivity method )
(3) Magnetic method (@) gaar fafr
(4) Gravity method (4) TecaTEyYr fafey
(5) Question not attempted (8) srg<iRa U=
56. The texture of an igneous rock, when mineral  56- =g el @1 Ted, orad @Fe Holi &l
grains can discerned without the help of a GeAeelt @ e & a9 ugaEn S 6Har ©,
microscope, is - g —
(1) Holohyaline (2) Phaneritic (1) guimites (2) gzafrzea
(3) Aphanitic (4) Cryptocrystalline (3) srgea fohweelt (4) i
(5) Question not attempted (8) rgaRa uzA
57. The Proterozoic phosphate deposits of India are  57- fF=faiRag § 4 e S @R wRaG &
located in which of the following location? UGS d Bivhe H8U 9y o 87
(1) Cambay Basin (2) Jaisalmer Basin (1) & goft (2) SR ol
(3) Kachchh Basin  (4) Jhamarkotra () T vl (4) ITRBE
(5) Question not attempted (5) srgaRda s
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58.

59.

60.

What is the range of wavelength of visible light
in electromagnetic spectrum?

(1) 1.3 um t0 2.00 um (2) 0.4 pm to 0.7 um
(3) 3umto 7 um (4) 0.8 umto 1.2 um
(5) Question not attempted

What is the end-product of radioactive decay of

238(J and what is the half-life of this radioactive
decay process?

(1) 87Sr, 4.9 x 10'° years
(2) 208pp, 1.4 x 10" years
(3) 297ppb, 7.1 x 10° years
(4) 206pp, 4.5 x 10? years
(5) Question not attempted

(E1:¢ ]
&

Which of the following is not a type of
Sandstone?

58.

59.

60.

Soggied Wagh § 30 Bl & qereed
@1 AT fae 8t 87

(M 13 um¥2.00 um (2 0.4 um ¥ 0.7 um
@) 3um A7 pm (4) 0.8 um ¥ 1.2 um
(5) Irg=IRdT wed

238y g NSO &g &7 3y Saure fA=faRag
H ¥ pIAr © 9T 39 It e ufthar 9
g faaer 8?2

(1) 875y, 4.9 x 100 a9

(2) 208pp, 1.4 x 10! 9§

(3) 207pp, 7.1 x 10° 4§

(4) 206pp 4.5 x 10° 99

(5) Srg<IRd U=

forferRad & 1 BT 9T TR BT UhR &
{4

Page 15 of 52

(1) Litharenite (2) Argillite (1) fagRAEe (2) anfSterge
(3) Lithic arkose (4) Arkose (3) forforew amplwr (4) smaie
(5) Question not attempted (5) gaRa weA
61. Which type of metamorphic structure develops, 61 &9 b g 9ol WUS BrATRT I g9IRAT B9
when argillaceous rocks are affected by contact g, 79 59 yoR @ srrmaRa Sxar el
metamorphism? BIT 87
(1) Maculose structure (1) A& AT
(2) Granulose structure (2) U9 HREAl
(3) Cataclastic structure (3) g IXEAET
(4) Gneissic structure (4) T Gt
(5) Question not attempted (5) rgaRd weA
62. Palana and Khari in Bikaner district are famous ~ 62- fle™x et & yemr @ik @ &7 Fr=faRed
for which of the following mineral deposits? 9 fra wfrs f[eg & forw s siar 87
(1) Gypsum deposits (2) Lignite deposits (1) Sr=s ey (2) fersre fHeg
(3) Peat deposits (4) Clay deposits (3) die fAey (4 T gy
(5) Question not attempted (8) srgaRa U=
63. Which of the following defines permeability? 63. grargar a1 e 9 ®F g wwar 87
(1) Ease with which a fluid can pass through a 1) 54 =g '\raq;uf Ay o yared a9 &)
porous medium. AT |
(2) The process by which plants release water 2) TRIRT ERT SToaTST BIeY @ ik |
var : (3) Rredl Yerqel e ¥ <eReE BT Ui |
(3) Percentage of pore spaces in a porous
medium. @) fod el wreEm g sdE ueRl gRer
(4) Ability of a porous medium to retain fluid. HT BT & |
(3) Question not attempted (5) argaRa ue
93 -




64.

65.

66.

67.

68.

69.

70.

Which of the following grain size class

represents cobble?

(1) 2mm to 4 mm

(2) 0.125mm to 2 mm

(3) 64mm to 256 mm

(4) 0.004mm to 0.063 mm

(5) Question not attempted

Which of the following is a characteristic

mineral of Greenschist Facies metamorphism?

(1) Chlorite (2) Staurolite

(3) Sillimanite (4) Kyanite

(5) Question not attempted

Which Craton is also called Bhandara Craton?

(1) Singhbhum Craton

(2) Eastern Dharwar Craton @\%[%l
Kk

(3) Bastar Craton LI

(4) Bundelkhand Craton

(5) Question not attempted

What is the spatial resolution for VIS and IR

systems of low orbit satellites?

(1) 5-10km (2) 1-5 km

(3) 10-100m (4) 100-1000 m

(5) Question not attempted

In which type of unconformity, the beds on

opposite sides are not parallel?

(1) Non-conformity

(2) Paraconformity

(3) Disconformity

(4) Angular Unconformity

(5) Question not attempted

How much is the maximum permissible limit for

Total Dissolved Solids (TDS) in drinking water

as per WHO International Standard 19717

(1) 2000 mg/1 (2) 1000 mg/1

(3) 500 mg/1 (4) 1500 mg/1

(5) Question not attempted

What do the drawdown curves represent in

Hydrogeology?

(1) Variation of drawdown with distance from

the well

(2) Amount of water discharged from the well

(3) Original piezometric surface

(4) Depth of the well

(5) Question not attempted

64.

65.

66.

67.

68.

69.

70.

F=faRaag § 9 o9 o1 smer SOl
MAHBT BT Tl 272

(1) 2 THUH. 9 4 TH.UH,

(2) 0.125 U999, ¥ 2 UH.UH,

(3) 64 UH.UH. ¥ 256 TH.UH.

(4) 0.004 TH.TH. ¥ 0.063 TH.UH.

(5) sgaRa ==

ff=folRea § & o= sRalire  doeoh
BIITARYT BT TP A1eTfoTh Giael 27

(1) FARIES (2) wRese

(3) Fufer=rse (4) HrIaTSe

(5) srgaRa ue=

DITAT B, HSRT Held & a9 A 4 afvfa 7
(1) gy e

(2) qdf uars e

(3) sx<X e

(8) gRerds Bt

(5) Ig<IRd e

for—ar SuTEl & g (VIS) Td 3961 (IR)
UoTell & o zenferes faves fra=m T 27

(1) 5-10 f&.41 (2) 1-5 &
(3) 10-100 #i. (4) 100-1000 =T.
(5) srgaiRa ued

fFa gpR @ afa d fAuda fesn & gwr

HHIAR 81 81 87

(1) srgHfa=

(2) gRfe=ma

(3) uHfa=ITa

(4) wofig faew (=

(8) srgaRa u==

SYUAS. IR AFE 1971 & IAR

Qaoidd § @ gfera gerit 9 aif¥edd et

AT (TDS) fha+r 87

(1) 2000 i /= (2) 1000 e /of.

(3) 500 e /<. (4) 1500 fehum /<.

(5) 3rg<Ra ue

Y—oid s 4 Saaaaa (Sfsree) 9% @

T &2

M w/T A QD AT STaddad (SrersH) §
gRad=

(2 gt & w1 Fd8T & "En
(3) o1 diosfes aas

@) g & TEE

(5) =Rk uw=

93
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71. Brazilian test is used to determine which 71- FIfiferae S &1 SUART =gl & &9 o7 &Y
property of rocks? ST BR= & forg grar 87
(1) Shear strength (1) eR=T i
(2) Tensile strength (2) a=gar gfdq
(3) Modulus of Elasticity (3) UIRYIAT HUIH
(4) Compressive strength (4) HYTST &HaT
(5) Question not attempted (5) srg<iRa ue
72. Which statement is NOT correct for Trilobites? 72. TrEAEISeH ® HaY H HIAT HUT FEl A8l 87
(1) They are a group of extinct marine 1) 3 fagﬁ q:pigﬁ Aaiarer @ T P e
arthropods. @ sFer WR AT ST (qF SrEr)
(2) Their body is divided into three tagmata o =T 2
(major sections). A sh
(3) Thi?ydﬁrst appeared during Early Cambrian @ E_rg? ;ﬁq SHbid o
eriod. . .
(4) E‘hey had simple eyes. (4) ITDT R HEIROT el € |
(5) Question not attempted (5) srgaRda ge=
73. Uniaxial compressive strength of rocks is 73 TSI &I Uk 3MefT HUeT Ufdd &Y U Aoy
expressed by a simple relationship. Which of the ey ¥ ad fhar oar 2 fr=falRea § 9
following is correct? PITAT FET 87
(1) Co=P+A (2) Co=P/A (1) Co=P+A (2) Co=P/A
(3 Co=PxA (4) Co=P-A (3) Co=Px A (4) Co=P-A
(5) Question not attempted (5) <RI U
74. What is called benthic fauna that attaches itself 74 U1 fdeRel Sia—<iq I 3709 &1 MER I SIS
to the substrate? TG, T HEATT &7
(1) Vagrant (2) Nektonic (1) W=smEmr (2) v
(3) Sessile (4) Plankton (3) TR (4) <g®s
(5) Question not attempted (5) IgaRa o=
75. Which of the following plant fossil assemblage ~ 75- fr=falRaa & & wl=ar a=xufy Sharew w9
is characteristic of Lower Gondwana? SRR TMiearr &I fagyar &7
(1) Cladophlebis (2) Thinnfeldia (1) FASITerfad (2) RrEwiesar
(3) Ptillophylum (4) Glossopteris (3) feadwIge™ (4) EreRe
(5) Question not attempted (5) IrgRa ueA
76. How much temperature is required for the 76- Ugiferaw fomfor @) feomRa gfrar & farg
metagenesis process of petroleum formation? fpae aIga= @ MaTAHar BidT 87
(1) Below 50°C M 50° I<s & =
(2) Between 150°C and 200°C (2) 150° I=<Hs R 200° 9<He & 9=
() >200°C () >200° w<rre
(4) Temperature has no importance (4) qUHETE BT HIs Hed T8l B |
(5) Question not attempted (5) srgaRa ueA
77. In natural soil profile the unaltered rock lies - 77. |EY g7 dbTsd # muRafid we fha w R
(1) Between B and C horizon E3E TR BT ©7 :
(2) Between A and B horizons E% (1) B 3R C f&fos & di= ﬁ
(3) At the top of A horizon : 4.5 Gﬁ?fé ﬁB %A
(4) Below the C horizon % 4 ¥
(4) C fafos = -
(5) Question not attempted (5) sraRT T
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78.

Which of the following represents the
relationship between 8D and 3'%0?

(1) Global Meteoric Water Line

(2) Globally Mentioned Water Line

(3) Global Mean Water Line

(4) Globally Measurable Water Line

(3) Question not attempted

78

- f=faRag & 9 @991 8D @R 8130 &1 IRER
Heer geriar 87
(1) If39® a9 a1 ¥@T
(2) If3gs SooilRad STl =T
(3) dRRF® fa (Frd) 5o &
(4) If3ge "YU Y S @l
(5) STF<IRT e

79. Which of the following represents the northern 79 f=ifeiiRad 5 & &= URoar gee AsE@ld &
part of the Pangea Supercontinent? IO ART DT S(@T 87
(1) Gondwana (2) Avlonia (1) Tsamr (2) veArt=ran
(3) Rodinia (4) Laurasia (3) ISifr= (4) <Rfrar
(5) Question not attempted (5) rg<iRa g
80. What is the chambered part of the Ammonite  80- HIFIZT Hag & HIS AN &I TIT Hod o7
shell called? (1) W 2) 'd'*ﬁ?[ﬂ
:;; gipta (2) Cf)lumn ) el @) R
ragmocone (4) Siphuncle
(5) Question not attempted (5) SrgiRa e
81. When the ground water is overlain and underlain ~ 81- U STaPya @1 91 Had &, oTAH Yold & SR
by impermeable strata, then this type of aquifer 3N I JURITR 5N ale
is called - E 1) TReg Seya
(1) Confined aquifer ?ﬁ t2; ReTags
: iy el d
(2) Leaky aquifer [l 3)
(3) Unconfined aquifer & ey
(4) Perched aquifer (4) gRerd Srerse
(5) Question not attempted (5) IrgaRa ue=
82. Which material has the highest porosity? 82. fr ueTef BT FRUAT Hed 3ifdd Bl 87
(1) Gravel (2) Glacial till (1) Faat (aor) (2) fEmee fea
(3) Sand (4) Clay (3) 91y (4) gR®T
(5) Question not attempted (5) org<IRa U=
83. What is the bulk density of rocks? 83. 31l &1 dob ©-Id IIT BIAT &7
(1) It is the weight of the powdered sample/unit (1) g8 ISR I &1 ol / SIS AT ©
volume (2 gz g # AR T T BT g /5078
(2) It is the weight of the specimen soaked in I &
water/unit volume (3) ST I g e
® e v oy gpeimen it pores o S
(4) Itis the weight of the specimen with partially (4) as w9 W W W A T P
filled pores/ unit volume oI/ gbTs AT &
(5) Question not attempted (5) ergaRe ue
84. If axial plane of a fold is almost horizontal, the 84 TfX fa<ft T@ &7 3l T T AfSIER
fold will be named by which of the following? &, 'd"[?ag e e # [ feas Aifea fean
(1) Reclined fold ST
(2) Sheath fold %) Rewdevs e
(2) =iy goi
(3) Vertical fold (3) TeaER g
(4) Recumbent fold ) Rew< (eF) aad
(5) Question not attempted (5) srqRa uA
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85.

86.

87.

88.

89.

90.

Which type of following joint traverses the linear
structures at right angles?

(1) Q joint (2) S joint

(3) P joint (4) L joint

(5) Question not attempted

Which of the following is not a Genetic
Designation Classification of granites?

(1) A-Type (2) S-Type

(3) I-Type (4) C-Type

(5) Question not attempted

The  Volcano-Sedimentary  sequence  of

Singhbhum Craton region belongs to which of
the following?

(1) Khairagarh Group

(2) Bargaon Group

(3) Delwara Formation

(4) Dalma and Dhanjori Group
(3) Question not attempted
What type of igneous rock does the following
relationship indicate?

Ca0 + Na.O + K>0 > ALO; > NaxO + KaO
(all values as molar proportions)

(1) Peraluminous (2) Metaluminious

(3) Peralkaline (4) Supraluminous

(5) Question not attempted
What s the correct
chronostratigraphic unit?

(1) System—>Stages— Series—Zones—Erathems
(2) Series—System—Stages—Erathems—Zones
(3) Erathems—System—Series— Stages—Zones
(4) Zones—Stages—Erathems—Series—System
(5) Question not attempted

Which of the following is not related to Global
Warming?

(1) Natural radioactivity

(2) Climatic effects

(3) Biotic effects

(4) Sea water level changes

(5) Question not attempted

E']IEJ
E‘;ﬁ

sequence of

85.

86.

87.

88.

89.

90.

frafofRea # 9 f5w yer & 9 Y&l
HYAATRI BT FHBIOT U Bl 7

(1) g <y 2 T <

(3) 41 wfer (4) Ter Gfer

(5) Srg=Rd ueA

feReq d§ 9 s=Er d91e @7 WF%RB
JeATH qAfTeRxor T8l 87
(1) A—<T1Zy

(3) I—<139

(5) IrgaRd ued
Ry e &3 BT ST E—3adrdl IrgHH
e A 9 feaw gdftg 87

(1) TRTTE |

(2) IRFTIg g

(3) IarST ¥ HHE (W)

(4) ST 3R g9oiNY |y

(5) AR W
?ﬁ%@ﬁﬁwﬁmwaﬁm%aﬁ
)

Ca0 + Na>O + K>0 > AlLO3; > NaxO + K-0
(@41 AT AR UId & wWa H)

(2) S—<igy
(4) C—=<rzu

(1) RUGATH (2) HerygH=4
(3) WRUeHeATZA (4) gurgA=Ta
(5) Srg<IRd U

1 4 9 SIawRsEe ghEal BT GEl $H

HITAT &7

(1) proTrefl— 3raReIT— ST 8T —> WIS

(2) HEAT U > INARIT > TRITH—E

3) wRIEH— T — 2T — SRR —> &

(4) &3 —STITRIT— TRIH— 3G AT— HOTTeAT

(5) IrgaiRa ued

W H ¥ par aR9s qugfy | H4fda
?

(1) Tl YRegmf

(2) Serarg aRad

(3) ifds waa

(4) 9 Wil WR & gadd

(5) argaRd ue

91. The phenomenon of switching between south  91- gedl & =farell 9 SO gai & g 89 dmell
and north poles of the Earth is called - Ul &1 geAT BT HEd & —
(1) Magnetic anomaly (1) g fodfa
(2) Apparent polar wandering (2) sl gdra A
(3) Sea-floor spreading (3) wHg sERdd fawar
(4) Magnetic reversal (4) FgHg ISHHIT
(5) Question not attempted (5) :gaﬂﬁﬁ TIq
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92,

93.

94.

95.

96.

97.

Fold with sharp hinge and planer limbs are
named by which of the following?

(1) Conjugate fold

(2) Chevron fold

(3) Fan fold

(4) Suprateneous fold

(5) Question not attempted

The magnetic method of Geophysical
prospecting is related to determine which of the
following?

(1) Structure of the ore bodies

(2) Anomalies in Earth’s natural magnetic field
(3) Electrical conductivity of the ore body.

(4) Chemical composition of ore

(5) Question not attempted

Which type of Seismic waves can travel in liquid
medium?

(2) T waves

(4) P waves

(1) L waves
(3) S waves
(5) Question not attempted

What is a variation caused by external influences
in the process of organic evolution called?
(1) Discontinuous variation

(2) Blastogenetic variation

2
(3) Somatogenic variation [
(4) Determinate variation

(5) Question not attempted

The Pokaran Boulder Beds of Jodhpur Group
were deposited in which of the following
sedimentary depositional environment?

(1) Shallow marine

(2) Fluvio-glacial

(3) Warm and super saline lagoonal

(4) Deep marine

(5) Question not attempted

Which of the following mineral group exhibits
double chain silicate structure?

(1) Feldspar Group (2) Pyroxene Group

(3) Mica Group (4) Amphibole Group
(5) Question not attempted

92.

93.

94,

95.

96.

97.

<eor €1 9 el oI a1l 9o @l 741 4 9
T BB 87

(1) g™ 9o

() IRE (Frof) ae=

(3) U@ goiq

(4) arfe a9 9o+

(5) Irg<IiRa ueA

PHIfTTa Ay &Y Fear [y e 4 9 faw
P FG B A T 87

(1) srRep TSl @1\

() gt & gawrg & o1 Aot

(3) srawp fUs 1 faga gererhr

(4) 3REH BT ARG Foed

(5) ergaRd ue

frd gpR @1 YU a3l g JegH H THT DR
FHAl B2

(1) gat a1
(3) Tw ¥
(8) arg<fa U
Sia e & ufear # 9/ gvEl @& BRI
I~ fA=IdT &1 1 HBl I 27

(1) srdaa =

(2) HRESIIT AwTar

() F1A® IO~ fH=ar

(4) Fafterd fa=ar

(5) I=IRT u==

SIQR HY & IR0l dleey AWk b el
qramarer # [afia gy o

(1) oo aqel

(2) TR

(3) H R I WRI TrS!

(4) TExT Al

(5) I=IRa u=A

=1 & 9 e @ O f§—saan Rifeae
AT yeffa @war g7
(1) SqUR 98

@) AEHT TE

(5) srafka U

(2) & T
(4) 9 a<

(2) R g
(4) TRwdra e
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98.

99.

100.

101.

102.

103.

The Dead Storage of a dam is defined as —

(1) Volume of water not available for use and is
stored in the reservoir below the Minimum
Pool Level.

(2) Volume of water available between the Heel
and the Top of the Dam.

(3) Volume of water available between

Minimum Pool Level and Normal Pool
Level.

(4) Volume of water available between
Maximum Reservoir Level and Normal Pool
Level.

(5) Question not attempted

Which of the following exhibits diverging plate
boundary?

(1) Transcurrent fault (2) Oceanic trench

(3) Island arc (4) Midoceanic ridge
(5) Question not attempted

The carbonates show a prominent absorption
feature at which of the following spectral
wavelength?

(1) 22 um (2) 15 um

(3) 20 um (4) 7 um

(5) Question not attempted

Which type of fault develops due to extensional
tectonics in the Earth crust?

(1) Thrust fault (2) Reverse fault

(3) Nappes (4) Normal fault
(5) Question not attempted

Which of the following does NOT represent a

pair of stable isotopes? [E]=50s]
(1) D-H (2) “Cc-"N EI
(3) 180y — 160 (4) Bc -12C 2

(5) Question not attempted

Why the microwave band region is useful in

Remote Sensing?

(1) Microwaves can pass through rain, clouds,
snow, etc. without any hindrance.

(2) Microwaves do not require sensors for
detection.

(3) Microwaves are not associated with
reflection or emission from the Earth
materials.

(4) Microwave-based data does not require
processing.

(5) Question not attempted

98.

99.

100.

101.

102.

103.

g7 & I YSRUT B 39 YbR gR9iT faan

ST & —

(1) ur= &1 "= e [IYART T8 fHar S
TP IR YATH I WR B A S i
Tufed 8|

(2) ol &1 A= & 9 B IR IR 2T AT
& 419 Sudel 8|

(3) Ul @1 HEAT Sl FAdH ol Wi AR A=
Id WR & 419 ¥ IuaeT 8|

(4) g1 @1 AT S SeddH SRy WRO3IR
UM Jel WR & 919 SuaTe 8 |

(5) IR U=

?ﬁﬁ@ﬁﬁraﬁwﬁ@e?ﬂmu—cﬁﬁﬁm

3

(1) grad=< 9= (2) | T
(3) g9 = (3) FHENINRIY $Hed
(5) IrF<IRa weA

Fra-e 4 7 9 9 Ao e R e
ey T 87

(1) 22 um (2) 15 um
(3) 20 um (4) 7 um
(5) IrgaiRa gz

TSl H [wRe a9 & SR B9 9%
fawmfra g 87

(1) &g g==1 (2) Rad =91
(3) U (4) |H= g
(5) rg=IfRka U=

fforRad # & si=rar Rer wwRenfat &1 3w

& 87

(1) D-H

(3) Bo-1%¢

(5) IR u=A :

JR—Hded H ATShIag Ul &9 i Sugrf E-‘?

(1) A13hIaa gy, 91, 9% anfe | e wu
¥ oR 9EHd B

(2) ATSHIdd BT gaT T b fow HER B
JMATHAT &l Bl 2 |

(3) #ArswIgg gl weell fell N Wl 9@
WRIIE T Sodoid | Hafed T8l € |

(4) ATSHITT—METRT  3Mhsl BT WARET B
JMEATIFHAT A8l Bl © |

(5) S=IRT e

(2) 14C s 14N
@ Bc-12c
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104.

105.

106.

107.

108.

109.

110.

The boundary between the Earth’s crust and
mantle is known by which of the following
name?

(1) Gutenberg Discontinuity
(2) Laplace Discontinuity

(3) Mohorovicic Discontinuity
(4) Holmes Discontinuity

(5) Question not attempted

In the gabbro, if orthopyroxene is present more
than clinopyroxenxe, which name will be given
to the rock?

(1) Diorite (2) Komatite

(3) Norite (4) Dunite

(5) Question not attempted

[E]:5[E
g
(=]

A new mineral that characterises a particular

metamorphic zone in termed as -

(1) Index Mineral (2) Epi Mineral

(3) EO Mineral (4) Kata Mineral

(5) Question not attempted

Which is the main host rock for zinc ore in the

Zawar area of the Udaipur district?

(1) Conglomerate (2) Phyllite

(3) Quartzite (4) Dolomite

(5) Question not attempted

Which of the following method is adopted to

improve the density strength of rocks to increase

the impermeability of the rocks in a dam?

(1) Bitumen
stabilization

(3) Backfilling (4) Rock Bolting

(5) Question not attempted

(2) Grouting

The Bitumen stabilization is used for which of

the following?

(1) Stabilizing soil by removing rock fragments
from it

(2) Maintaining soil temperature

(3) Decrease soil moisture

(4) Increase soil impermeability

(5) Question not attempted

Land gastropods

Suborder?

(1) Pteropoda (2) Thalassophila

(3) Basommatophora (4) Stylommatophora

(5) Question not attempted

are classified in which

104.

105.

106.

107.

108.

109.

110.

gl BT qudl 3R Aed & Heg AT B 1 H
¥ f&q =M |9 5= Siar 87

(1) e rEaddl

(2) ST _rA I

(3) AERIfAf® rdddar

(4) g IrAdTar

(5) argIRa e

T #H O e Sl @1 "En
FATSAMUTERIRIT & 3iftes 81, a I &I &=
M e sr@En?

(1) SIRTEE (2) ®HEIETSS
(3) dARrTEe (4) sgAT"e
(5) srg<IRa g

U a9 Efae, S fadl iRy sra=alRa &=
1 fIeydar 9ardr &, SS9 B8l 9kl § —

(1) gErie @frst (2) Tt =
(3) zai wfrer () wer @
(6) IrgaiRa g

SR ToTel & SR &3 § e & arRes 33
ferer anfaer agm & o S €7

(1) BiarNe (2) frerrse
(3) TS (4) SremEe
(5) srgaiRa ue

fFrfafRag # & o= Ay e 9y 3§ agET
D O 9o H GUR AT FEFl B JIURTRIA]
BT T B BIH H ol ST 27

(1) fagas Remiror  (2) w=feT
(3) depfhfeiT @) e qifecT
(5) srgaiRd u=

fagi Rediaror &1 SwarT 7 & 9 f5as

forg g 87

(1) ga1 & "2l & Ths gl PR S Redigpa
B B g

(2) He1 &1 dIEE 991 @A B fog

(3) a1 1 T FH A & forg

(4) T&T BT JYRTHIAT 9gH & forg

(5) IFRT U

ﬁuﬁ@ﬂwaﬁﬁmw—wﬁww

>

(1) SOreT (2) grarafren
(3) dETHSTHIRT (4) TEAHTIHRT
(5) SrgRa e
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| ¥

111.

Which of the following mineral has the highest
abrasion resistance?

111.

= 4 9 o9 wfie Y sogdor ufekes
AT ITEdH 27

(1) Apatite (2) Quartz (1) vyese (2) Fardsy
(3) Zircon (4) Barite (3) Rwa= (4) @=r3C
(5) Question not attempted (5) Sr<IRT =
112. Pyrolusite is an ore mineral of which of the 112.uERIegarse 79 & J f5w &1 svs @S
following? 514
(1) Manganese (2) Tin (1) Hrirsr (2) feq
(3) Copper (4) Iron (3) iU (cdmH) (4) et
(5) Question not attempted (5) S <IRd U=
113. Which one is bioengineering landslide hazard 113395 & ®FaT SofAAiHaN YRae= 3muer
mitigation? LATHRIT &7
(1) Afforestation (1) =TT
(2) Modification of slope (2) e # aRad=
(3) Retaining structures (3) yfteIReT HX==T
(4) Slope reinforcement (4) BTt GgeIhRoT
(5) Question not attempted (5) (ﬂaﬁﬁﬁ PES |
114. Which of the following is not a metamorphic 114 f=farRad # & 9T v wrafafta @fas 8]
mineral? 27
(1) Olivine (2) Andalusite (1) sniferfas (2) JsTgaTSe
(3) Wollastonite (4) Chloritoid (3) dIaReTEe (4) FaIREsS
(5) Question not attempted (5) argaRa ugd
115. Which formation of Ganga Plains is equivalent  115- 77T #3Fl &5 &1 BT ¥ AHg 97T 3R
to the Rangmati Formation of Bengal and H H e I g @ T a?
SxssuTHy ; (1) 9 ¥ @9E (@)
(1) The Bhangar Ff)rmatlon E%g] (2) 9TeR It g (BHverE)
(2) Bhabar Formation ERp it
(3) Bhur Formation (=l @) R AT FE ( )
(4) Khadar Formation (4) | A W (i)
(5) Question not attempted (5) srgaRd ueA
116. Which of the following represents a Binary 116.fo=foiRag # & ®=ar =g Jafas= #
Solid-Solution System in igneous petrology? feues 39 Ao yomel <wifar 87
(1) FeSiOs - SiO; (1) FeSiOs - SiO; '
(2) NaAlSizOs - CaAl2SizOs (2) NaAlSi3Os - CaAl>Si20g
(3) KAISi30s - CaAl>Si»0s (3) KAISi3Os - CaAl2Si>Os
(4) NaAlSizOs - KAI1Si30g (4) NaAlSi;Os - KAISi3Og
(5) Question not attempted (5) IRT ue
117. Which process of ore mineral formation has 117- aprep @fer FAOT ST HI=AT glhar # wHewdl
pseudomorph texture? TS BT 87
(1) Sedimentation (1) efg9|reT
(2) Cavity filling (2) TqfEwt wRoT
(3) Replacement (3) ufcrerma=
(4) Magmatic Crystallization (@) 77 fohReeliaRoT
(5) Question not attempted (5 Hﬂﬁﬁﬁ U=+
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118.

119.

120.

121.

122,

123.

124.

Which Foraminifera has a flask-shape and
unilocular test?

(1) Textularia (2) Lagena

(3) Nodosaria (4) Lenticulina

(5) Question not attempted

What are the symmetry elements of
Ditetragonal — bipyramidal crystal class?

(1) Planes of symmetry-9, Axes of
symmetry-13, A centre of symmetry- absent
Planes of symmetry-3, Axes of symmetry-4,
A centre of symmetry- absent

Planes of symmetry-4, Axes of symmetry-3,
A centre of symmetry- absent

Planes of symmetry-5, Axes of symmetry-5,
A centre of symmetry-present

(5) Question not attempted
Which of the following
cyclosilicate structure?

(1) Tremolite (2) Tourmaline

(3) Biotite (4) Enstatite

(5) Question not attempted

The process of Guniting is applied in which of
the following?

(1) Shaft Sinking

(2) Soil-Slope treatment

(3) In the Z-horizon

(4) Underground mining below 1000 m
(5) Question not attempted

The minimum number of chemical constituents
required to define the composition of all phases
in the Silicate Melt System, is named as -

(1) Compound (2) Mixture

(3) Ion (4) Component

(5) Question not attempted

Reversal of Magnetic poles is used for, in which
of the following?

(1) Lithostratigraphic correlation

(2) Magnetostratigraphic Correlation

(3) Stratigraphic correlation

(4) Biostratigraphic

(5) Question not attempted

Moisture content in
consistency of soil
following limits -

(1) Solid limit (2) Liquid limit

(3) Plastic limit (4) Atterberg Limit
(5) Question not attempted

(2)
(3)

(4)

mineral has a

soil, which controls
1S not measured with

[E]5[E
g

118.

119.

120.

121.

122,

123.

124.

B BRIFAFTHRT BT MHR TARD (FRTE1) il

3R gdierr UHeISy 27?

(1) <aagaiRaT (2) SR

3) HremRem @) Sifeaferm
(5) Irg<IRa U

SHCENHa—aafiRIase e ®em &

AR rqga @1 87

(1) o aHfAfa—9, iy wafAafa—13, o<y
afafe argulRerd

(2 geim wafafa—3, ey gafafa—4, o<
wHfEf

() aeirm gufafd—a, ey wafEfd—3, =<y
B3R IE N} T

(4) deirm wHAfa—s, e wwfEfg—s, s
Tafafa sulRerd

(8) Irg<iRa U=

frr=fafRaa 5 o foa wfae <61 ws—cra‘rﬁqﬁ?‘ne

HEET Bl 87

(1) gHIegE (2) ==
(3) IrIETZe (4) T=carzse
(5) g weA

fesT ufrar w8t R &m H oft ol 87

(1) sFgaq #Ff g9 #

(2) ger—ea™ SUIR 4

(3) z-f&fasr +

(4) 1000 Hex | B YAFTd @=q #

(5) SR T

faforpe ga d3 # it ol & Faed @
URAMNT B dTel RIS "gedhl & =gAad
= BT feay A fear srar 87

(1) Iifr® (2) fAsmor
(3) Ima= (4) gch
(8) srgiRa ue

TEO & gopau &1 1 # 9 fead
m‘aﬁﬂ?a;?

(1) r—aR®T Feqeyg
(2) gap—wRa! Fgdey

(3) wRIpd HAeddy

(4) Sa—wshe  FEdey

(5) IrgaRa ue=
¥ 94 @7 =7, ey o1 Rerar @
sowd A A9 AT @ IO

&l BT 87

(1) s/ < (2) =t AT

(3) gurewrar A= (4) gexe M

(5) arpaRa ueA
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125. Which of the following is the most abundant

126

127.

128.

129.

130.

volatile component of the primary magma/lava?
(1) H0 (2) H2S

(3) CO, (4) NH4

(5) Question not attempted

-In the process of Supergene Enrichment, the

enriched ore zone lies -

(1) Between Gossan and Oxidised zone.

(2) There is no fixed location

(3) Beneath the water table

(4) Below the leached zone and above the
oxidised zone

(5) Question not attempted

What is a Seismograph?

(1) An instrument to measure and record
earthquake activity

(2) Graphical presentation of earthquake activity

(3) Special type of graph-paper to show location
of earthquake stations

(4) Satellite image of earthquake hit region

(5) Question not attempted

The sea water intrusion in the basin can be

prevented when the tube well is positioned -

(1) inland and near the sea coast.

(2) inland and away from the sea coast.

(3) in the low tide zone.

(4) in none of the above conditions.

(5) Question not attempted

Which of the following statement is TRUE for

Asthenosphere?

(1) It is absent under continental regions.

(2) It is present in the lower mantle.

(3) It is separated from lithosphere by the Moho
discontinuity (boundry).

(4) It is hot and plastic-like.

(5) Question not attempted

In class Echinoidea, an Ambulacral pore pair

sometimes surrounded by an elevated rim, @
known as -

(2) Exsert
(3) Peripodium (4) Insert
(5) Question not attempted

(1) Conjugate

125. foforRag & 9 o= wraffe #7491/ dar 8

126.

127.

128.

129.

130.

Sm
wg%
o

HIH UGR AF H U OfF 91t arwsiie 'ed
57

(1) H20 (2) H.S
(3) CO» (4) NH4
(5) SrgxIRa e

JURSIE Hagq &1 ufshar #, 99g axw &=
el Rerd 8ar 87

(1) T 3R dedipa &3 & 4= #

(2) w1g Ff¥ag <= 87 8

(3) HH SeTwR & A

(4) FMearfoa a3 @ A1 IR ifliega a9 @

HUR
(8) arg<Ra U=
ARAUT fhd Fed 27
(1) Y&Hdrg Tfafaf &1 A ik Refe o< &1

I

(2) i wfafaf 37 & (@fhs) T

() y&wy @ai @ Refd g=i= aer ve fagiw
YR G A6 YU

(4) gy gHIad &5 B SuUs uid

(5) rgRa gs

IR H AgE S BT SIed Udel IUET S

JHal 8, 99 Ta 7u a1 Refa —

(1) sia<eim &R 998 dc & U &1 |

(2) sia<ei ik wqg ac I R |

(3) forg waR &= ¥ 8|

(4) SuRn faedt o Reafa # 87

(5) srERa w

frafoRag 4 9 @99 Fod TRFEANGRR &

Hed | el 87

(1) I8 AIEdE &3 © g F81 9Tl ST 2 |

(2) a7 fAroe AR &= # Red 7|

(3) g AET Irddaal () g ReHsd o
37T BT B |

(4) g% T |4 gocd BT © |

(8) srgRd wed

tfrsfear @ & Y fog g, S i—a

S=a R9 ¥ fir <87 8, 771 FEand 87

() HgH (@) gaifaa
3 gRure @RDfT™) @) fAfis
(5) ergeiRa w9
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131. Which of the following is also known as pedicle  131. gf&adgw # f=foRaa & 9 5w ufeda ar
valve in Brachiopods? 9 wEd 87
(1) Ventral valve (2) Upper valve (1) Sex area (2) SuR g
(3) Brachial valve (4) Dorsal valve () sferaa area (4) gy areq
(5) Question not attempted (8) srg<iRa gz

132. What is called the debris material that moves at  132. 5 H{iex /¥qFhvs ¥ M@ Tfa ¥ Rawsd- drel
a speed of more than 5 m/s? HAd Bl FT HEd 87
(1) Mud flow (2) Soil infiltration (1) 9o Yars (2) HaT Ifadu
(3) Creep (4) Debris avalanche (3) = (4) H9T INqETq
(5) Question not attempted (3) ﬂﬂﬂﬁﬁ EEE

133. The precipitation of new minerals within pore  133- JEHEl & =T WIF H ¢ WS & AGETI Bl
spaces of sediments is known as - ST STl & —

(1) Mesosynthesis (2) Exogenesis (1) ARt (2) AR
(3) Authigenesis (4) Neosynthesis (3) e (@) FHeiRraf
(5) Question not attempted () Gﬂﬂ?lﬁ'ﬁ gz |

134. What is the polar sun-synchronous orbit altitude ~ 134- YR ¥gx Wded SUUE IMEIRUA—1T B
of the Indian Remote Sensing Satellite IRS-1A? gara gd AAGIIS Bl BT SHars bl 27 ‘.
(1) 3600 km (2) 2000 km (1) 3600 .. (2) 2000 f.T. )
(3) 36872 km (4) 904 km (3) 36872 foAL (4) 904 fbA.

(5) Question not attempted (5) or<fRa uw

135. Which among the following is not a trap for oil  135- f=foiRaa d |9 ®=wr ugiferad d9g & fog
accumulation? ¢U F8l 87
(1) Fault Trap (2) Lens Trap (1) g1 ¢q (2) 9 ¢u
(3) Salt Dome Trap  (4) Anticline Trap (3) wrgor Y=g ¢u (@) sl ¢U
(5) Question not attempted (5) I aRd ue

136. The four-tusked Mastodon with elongated lower  136. 57 9ol S dTel IR &I &d dld H¥<rei|
jaws is known as - &1 fo| =M | ST Sar 27
(1) Tetralophodon (2) Tetrabelodon (1) ScTATmISH (2) SorEeT=H
(3) Elphas (4) Trilophodon (3) TemrE (@) ZrsAmISH
(5) Question not attempted (5) ﬂﬂ?lﬁ?i EES]

137. Which test is intended to find the ability of the 137 P weror wHy AT Ay B ey &) “
aggregate construction material to restrict gfadfEd ®e @ eHar &1 gar aam @ fag
weathering? e ST 87 4
(1) Soundness test g [= (1) g u¥ieror '
(2) Brazilian test [E v (2) sreiforaa adieror
(3) Jolly’s test (3) STl &1 gteror
(4) Deval abrasion test (4) Qe JErdor UNefor
(5) Question not attempted (5) ?ﬂ?ﬁﬁ =

138. In which type of volcanic activity, lava flows 138.{HH ydR @1 forar o, @rar garg fa=n
without any explosion? B4 fawpie & gar 87
(1) Hawaiian type (2) Vulcanian type (1) gar3aT UhR (2) gen a9 PR
(3) Pelean type (4) Plinian type (3) Giferaq ysR (4) <N gsrR
(5) Question not attempted (5) sraRa e
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139.

The term °‘Diastem’ refers to which of the

following statement?

(1) No break in stratigraphic record due to
Tectonics

(2) Long-term break in stratigraphic record.

(3) Break in deposition due to human activity

(4) Break in deposition due to seasonal changes

(5) Question not attempted

139.

rfeiaa § 9 siaver’ faa ded # Seaiflad

Bl 87

(1) wNYd Mferg #F caeia dror 9 favm
&1 AT BAT

(2) wRrE sierE F drewifors fAavm gmr

(3) ArFEr™ A & Hwor e §

(4) zrg—uReds Hdeh HRON & fMegor ¥ farry

(5) gaRT g

140. What is the ratio of Vertical to Horizontal 140. 919 ¥q & 3r{wfad ueref & 9% &9 & ursd
distance of side slope in the area of AN @ HEaR R afd g @1 U @
unconsolidated material of fine sand in the 2rTr?

CRues (M 1:2 2 1:25
(112 @ 1:25 ; 8

3 1:1.5 @ 1:1.25 () 1: (4) .1:1.25
(5) Question not attempted ®) (ﬂjﬂﬁﬁ BRI

141. Which one is a natural source of water 141 FA—UgEU &1 UTHfad W HIEAT 872
contamination? (1) I BT T g
1 industri :

Tt el Sl

(3) Accidental release of oil in the ocean water @) wg & arft F 4 H R
(4) Salts and minerals derived from rocks (4) el F YTt ST AR @S

(5) Question not attempted (5) Irg=IlRa ue

142. The Lathi Formation of Jaisalmer basin is 142- Sigerk SIoft & odt Sio—wqg, ®eo vl &
correlated with which of the formations of the f5a 9 99 g & A1 AE—eY gl 27
O R e R 0T Gy
(3) Umia (4) Patcham Wiee @) st ¢4, e
(5) Question not attempted ®) Gﬂﬂ?ﬁﬁ HRH

143.0On which basement rocks, the Dharwar 143. gRaTs #eTaqE & g fba SR IS U=
supergroup of rocks are deposited? afta g 27
(1) Sargur Group and Peninsular Gneiss (1) IR ¥9 IR IFEger 1S9
(2) Closepet Granite (2) FANUe U9TEe
(3) Gorur Gneiss (3) TR A
(4) Khondalite Series (4) Grsrerge RS
(5) Question not attempted (8) argaRa g

144. Which of the following Indian Standard Test is 144-9a1 & AM® WIe weor (Tadidl) & fru
followed for Standard Penetration Test (SPT) for frafafRaa 5 9 99 TR "9 gdeo
s0il? YT SITaT 87
(1) 1S 2131-1981 (2) ASTM D1586 (1) IS 2131-1981 (2) ASTM D1586
(3) 1S 2720 (4) IS 4968 (3) 1S 2720 (4) IS 4968
(5) Question not attempted (5) erg<IRd g
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145.

146.

147.

148.

149.

150.

What is known as the Modulus of Elasticity?

(1) The ratio between lateral strain and vertical
strain

(2) Two opposite forces directed inwards

(3) Two opposite forces directed outwards

(4) The ratio between stress and strain

(5) Question not attempted

The water table aquifer is also known as -

(1) Aquitard (2) Unconfined aquifer

(3) Perched aquifer (4) Confined aquifer

(5) Question not attempted

Which of the following processes is not related
to diagenesis of sediments?

(2) Hydrolysis

(4) Solution

(5) Question not attempted

(1) Cementation

(3) Compaction

In a crystal, two symmetry domains are
separated by a common plane of atoms, what is

it called?

(1) Complex twinning ESE
(2) Penetrative twinning Ei&é

(3) Polysynthetic twinning

(4) Simple twinning

(5) Question not attempted

In which of the following, the net-slip is same as
the downward or upward slip along the fault
plane? ‘

(1) Down-dip fault (2) Dip-slip fault

(3) Strike fault (4) Bedding fault

(5) Question not attempted

Who gave Tidal Hypothesis for the origin of the
Solar System?

(1) Hess and Wegener

(2) Jeans and Jeffreys

(3) Chamberlin and Moulton

(4) Hoyle and Kuiper

(5) Question not attempted

145.

146.

147.

148.

149.

150.

JATRIAT A0S [ HEd 57

(1) ured RIpfa ik SwrRr Iefka @ 9= @
IgaTa

(2) iEx @1 AR FRRE 37 AT a1

(3) 9rER BT IR FeRE & AUl 9

(4) gftaa &Rk AT & 9= &1 U

(5) IrgARd U=

HHAGTARR Seiyd &I 39 I 9 A ST Sl

3

(1) SToRrS (2) agReg STehyd
(3) gRera Serya (4) uRvg SToyd
(5) IF<IRA U

fr=forRag § 9 S0 ufehar dooe g\ |
Hafarg =87 27

(1) ArdraaT (2) s
(3) A= (4) fAerm=
(5) IR 9w

fedt foheea # |1 wafafy SFF =RERT & Ua
AHI del g1 faafea @ € 30 @ Ped
14

(1) Sifed gqe

(2) s=O=IaYl IHAA

(3) ggHzl IHAT

(4) |E= gqA

(8) org<ifRa U

frr=folRea # @ 5w, ge—ado ¥ aa @
FHUR T AT B gTel U9 © 9¥EN BT 87

(1) IEn—=fa g (2) afg—adgor Hr
(3) =fcrera T (4) TXEROT Y97
(5) argaRa uwA

IR HSd BT SART B SR IREeaT fbam
g?

(1) =9 3R IR

(2) ST 3R SIS

(3) Tw=fer 3R Hleed

(4) EUe 3R HIW

(5) srgRa ue=
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Chemistry

RS ERYIEE]

51. Which of the following characteristic is 51. oY ga1 & fog F=foRaa & & s wewr
INCORRECT for loamy soil? T B?
(1) Itis a mixture of both sand and clay particles. ) Zlﬁ:é Qﬁ% Ie’ﬁ" et gl <= & Bl @
(2) The rate of infiltration of water is good. el o
(3) It has very less interspaces which ?nhibit the ) tﬂ_rﬁ_ & W:W, BT T e ﬁ_fﬁ gl
free circulation of air and water. Ol ey oon Tie W S %ﬁ‘r’f g S T
S & Had YR BT AHd § |
(4) Best soil for better growth and development (4) o B Iz gy iR R & g v
of plants. 3= HaT T
(5) Question not attempted (5) argaRka U=
2. The peak at m/e 109 in Thiophenol is due to the ~ 52. oIfth=TeT H m/e 109 Ux 7 aTer BrER s
formation of - HioT & FHROT 3MTar 27
(1) Oxonium ion (1) sfieAf~gs sma=
(2) Thiotropylium ion @% (2) smgifufer ma=
(3) Tropylium ion R (3) grfuferas amg
(4) Cyclopenta-1,3-diene ion (4) \ArgFAEl—1, 3—STST I
(5) Question not attempted (5) org<IRa uw
93. The Inductively Coupled Plasma-Atomic 93- gefdeagell ®Ucs wIoaA-Ucided  UlRwE
Emission Spectroscopy (ICP-AES) cannot be WISRFI (ICP-AES) BT ST fbgeT ual
used for the detection of - o @ forg g1 AT 1 dear 87
(1) Carbon in an organic molecule (1) SEfS 319 # Frda
(2) Trace metals in alcoholic beverages (2) ycwpigiferd Ug 4§ geH orgu
(3) Aluminium in blood sample () Xad & T H vgAtEE
(4) Copper in brain tissue sample (4) AR e & T H DU
(5) Question not attempted (8) argfRa ueH
54. The products of the following reaction is — 54. fy=foRaa ifafear & sag € —
CHO CHO
« HcHo RS REOH, + HEHG 2005 NOH,,
OCH3 OCH3
COONa COONa COONa COQONa
) + HCOONa + CH3;0H (1) + HCOONa @) + CH3OH
OCH: OCH3 OCHs OCHs
CH20H CH20H CHz20H CH:0H
@) + CH:OH (g) + HCOONa (3) + CHsOH () + HCOONa
OCHs OCHs OCH: OCH:
(5) Question not attempted (5) srgaRa wed
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55.

56.

57.

58.

59.

The reaction of m-phenylenediamine with
formaldehyde gives -

(1) Weakly basic anion exchange resin

(2) Weakly acidic cation exchange resin

(3) Strongly acidic cation exchange resin

(4) Strongly basic anion exchange resin

(5) Question not attempted

Standard Deviation (s) for ‘N’ number of
MEeasurements Xi, X2 .......... Xn 1s expressed as -
E(x; —%)?
1) g =227
(1 s =
X x 100
(2) s=
N ElZE
2]!‘;!(xi—i)2 E}',: :
@5 N-1 ;
_E(xi—-X)
4) s= Ty

(3) Question not attempted

Which one of the following statement is

Incorrect about Schottky defect?

(1) It is found in those ionic crystals which have
low coordination number.

(2) The presence of Schottky defect in a crystal

decreases its density.

(3)

(4)

It is a type of stoichiometric defect.

The number of cations and anions, which are
missing, are the same.

(5) Question not attempted

The reagent which does not react with both,
acetaldehyde and benzaldehyde -

(1) Tollens’ reagent

(2) Fehling’s reagent

(3) Schiff’s reagent

(4) 2, 4-Dinitrophenylhydrazine

(5) Question not attempted

In cheese, dispersed phase and dispersion
medium respectively, are -

(1) Gel and Solid (2) Solid and Gel

(3) Solid and Liquid  (4) Liquid and Solid

(5) Question not attempted

55.

56.

57.

58.

59.

m-fhAgeiFsEdT &1 Biafessss & A
IHfHaT | 9T AT § —

(1) gda &Ry komgE A RE

(2) gda er=ia a9 fafsg IR

(3) gga 3r=ilg g9 g =

(4) uger &g Fomas fafssa R

(6) srgRa ueT

Z(xy—X)
1
(1) s =
X X 100

(2) s = ~

I e I
). 5= \} N-1

_ Z(%i—X%)
(4) s= e

(8) IrgaiRe e

faReg § 9§ sifca B9 @ aR H B

HI Hel Aol of

(1) a8 <9 e fhedl § R S g,
o TH=a = o4 Bl 2 |

(2) s fheea # viesd! I @ SURAIRY ST
B Bl BH P odl 2|

() U2 U YBR P WLiEfHamigs TV B |

(4) gl TAT oM BT AT, ST TR
g, 99 BT B

(5) IrgaiRd we=

I8 IfEmHs Wr YWefeess ok I~ifesass

T rfAfosar FEf dvar ® —

(1) St e ds

(2) BfeiT AAWeEds

() 3% IfMHds

@) 2, 4-sTEES g S

(5) srgaRa uea

TR H, gRfErT uraweim aIr gfRegoer ATTH HHe:

F_

(1) Sid @1 o

(3) T TT ©9

(5) SrIRT U=

(2) 39 ToT od
(4) gg gar o

)
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Page 30 of 52



60. The correct order of increasing s-character (in %)

61.

of the hybrid orbitals in given molecules is
(assuming all hybrid orbitals are exactly
equivalent) -

(1) SFs< PCls < COz < CCly
(2) SFs<PCls <CClys< CO>
(3) CO2 < CCls < PCls < SFs
(4) CO2< SFs < PCls < CCly4

(5) Question not attempted

[El5IE]

Which of the following statement is true?

(1) Bond dissociation energy of O» and O~ are
same.

(2) Bond dissociation energy of Q2 2~ is higher
than O;~.

(3) Bond dissociation energy of O.* is higher
than Oas.

(4) Bond dissociation energy of O2~ and O 2-
are same.

(3) Question not attempted

62. Low levels of CO (less than 10 ppm) can be

63.

conveniently measured by -

(1) NMR (2) IR

(3) Gas chromatography (4) UV

(5) Question not attempted

C=CH
Hydration of O in the presence of H,S0, and HgSO; gives -

CH,CHO CH,CH,OH
o) O @ O
(|)| QCH,CHS
GHL (4)
@) O o

(5) Question not attempted

60. fau Y arvpell & WaRd werst § s-wror (% )

61.

62.

63.

B dedl g3 Wel A © (I8 A9 g9 & i
HHRA HeTh THad A §) —

(1) SFs<PCls <CO2<CCly

(2) SFs < PCls < CCls< CO2

(3) CO2 < CCls < PCls < SFg

(4) CO2< SFs < PCls < CCl4

(5) IrgxIRe wed

foRaa & & B9ar doq | 87

(1) O, TAT O~ & I A= Sl FaE eIl
2|

(2) 0,2~ F=1 A Foit 02~ 9 s el
=

() 0.+ &I a7 fGF St 0, I e el
2l

(4) O~ TAT 0,2~ P! T AIoH Holl FHH
Bl B |

(5) IR U

CO® 1 WX (10 ppm A &H) B fosd g

ST < AT ST AhaT 87

(1) NMR (@ IR
(3) 9 BTG (4 uv
(5) IRT U

c=cn

H,S0, TIT HgSO, &1 sufeefy # WA T 29T § —

CH,CHO CH,CH,0H
(1) O = O
ﬁ O—CILCHS
e Z 4
& Oc CH, (4

(5) sgiRa e
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64.

65.

If atomic number of an element is 47, then this
element belongs to -

(1) Period 3, Group 12

(2) Period 5, Group 11

(3) Period 6, Group 10

(4) Period 4, Group 11

(5) Question not attempted

Match the structures (A to C) with correct spot
in the Thin Layer Chromatography given below,
which is eluted using 10% Ethyl Acetate/Hexane

solution -
e A B ¢ =
T [=l:vees

) 1I'=82=B3=CH2 1=B2=C.3=A
8)- 1=C, 2=A,3=B @ 1=C,2=B.3=A

(5) Question not attempted

64.

65.

afe fFA1 a<a &1 WA HHAIG 47 B, A 98
o defod § —

(1) smad 3, I9E 12

(2) amad s, ¥HE 11

(3) 3rmadt 6, WHE 10

(4) Jrad 4, 9B 11

(8) srgafRa e

e <7 TS Udell URA auiciiNgel H Hel WIH ®
AT EREERi (A ¥ C) b1 e e,
10% 2ATgdl QHIce/zaad faeaa &1 Sugn
o Fenfera far T & —

. - (A:(\ @/CH()@/\OH

() 1=8,2=8.3=C2) 1=8B.2=C.3=4A
Bl 1=C2=A,3=BW 1=C2=B,3=4A

(8) srgaiRa we=

66. Which one of the following statement is 66. fq=farRag # & w=T B wE A8 87
INCORRECT? (1) ve AT § —NO, FHE Siled IR FpREI
(1) Introduction of =NO: group in the compound & Sgar 3§ HE B o
diminishes intensity of Phosphorescence. (2) <gRART onfas IREAT W Pl ‘it
(2) Phosphorescence is not affected by -
molecular structure.
(3) Mg and Zn compounds show strong Fluore = Mg SEE R e SRt e i
scence. gl 1
(4) Cu and Ni increases Phosphorescence. (4) CuTAT Ni TpRAIET BT IS € | !
(5) Question not attempted (8) srgaRa wes ;
67. Molarity of 1.0 litre of 98% (w/w) HSOs 67- 1.0 &fex 98% (w/w) HaSO4 (87T 1.84 ¢/mL)
(density 1.84 g/mL) is - P ARl & —
(1) 18.4m (2) 36.8m (1) 18.4m (2) 36.8m
(3) 24.6m (4) 9.2m (3) 24.6m (4) 92m
(5) Question not attempted (5) r<ifRa U=
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68. Match the reactions given in List-I with the ©8. g&—I % <1 71 afafral &1 G-+ Ry
suitable reagents given in List-II and identify the [SUgFd B HBT | gafera o ik < g
correct answer from the code given below - MY & 4 98 SR BT g999 By —

List-I £5 |
‘r (Reactions) (GTﬁﬁﬂJT)
‘ (A) Benzophenone — Diphenylmethane (A) I — SEfhagad=
(B) Benzaldehyde — 1—Phenylethanol (B) d~ifesems — 1-fhagausta
(C) Cyclohexanone — Cyclohexanol (C) ASFARTIFT — AgdRaaT=iel
(D) Phenyl benzoate — Benzaldehyde (D) frTza T=ite — T
List-I1 ' 1l
| (Reagents) ( fyet )
| ;- Ll (i)  LiAlHq
| (”) PHEA L D (i) DIBAL— H/H;0
| (ii1) Zn(Hg)/Conc. HCI (iii) Zn(Hg)/Conc. HCI
(iv) CH3:MgBr/H20 (iv) CHsMgBr/H>0
Code - &e —
U e i, (B L) Al (DY - (%) ) (A) - G, (B) - ), (©) - i), (D) - v
(2) (A) - (i), (B) - (ii), (C) - (iii), (D) - (iv) @) (A) - (i), (B) - (ii), (C) - (iii), (D) - (iv)
(3) (A) - (1), (B) - (iv), (C) - (i1), (D) - (iii) (3) (A) - (1), (B) - (iv), (C) - (ii), (D) - (iii)
@ (A) - (iii), (B) - (iv), (O) - (), (D) - (ii) (4) (A) - (iii), (B) - (iv), (C) - (i), (D) - (ii)
(5) Question not attempted (5) orgRa uw=

69. The image (A) given below showing pattern of 69 HI9 fear a7 form (A) SrEarsS (fal'?ﬂT:T SHIGECIGI
darts on a dartboard is an example of high qrs) W e &1 U (7)) ST aYmRfar 3R
accuracy and high precision, then what does the tlﬁ?_l@?ﬂ &1 Tp I<ERUT &, a9 =& (B) @

| image (B) represent? uef3fa sxar 87
t
f ©
F (A) (B) (A) (B)
(1) High accuracy, low precision H3E (1) = Femefdr, 1 aRgEdr
(2) Low accuracy, high precision g‘% () = el s= aRygarn
(3) Low accuracy, low precision @) =1 agreian, =1 uRgear
(4) High accuracy, high precision (8) S== gereidr, S== uRgEdr
(5) Question not attempted (5) argRa U
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70.

Consider the following reactions given below -

(i) NaCl+AgNO3—NaNO3+AgCl (white ppt)

(ii) AgCI (white ppt) + 2NH4OH — ‘X’
Compound ‘X’ is -

(1) [Ag (NH3s)2] Cl

(2) [Ag (NHa4)2Cl2] (OH)2

(3) [Ag (NH3):] OH

(4) [Ag (NH3)]Cl

(5) Question not attempted

70. Jr fow v srfAfshamet o far +ifie —

(i) NaCl+AgNO3;—NaNO3+AgCl (3dd 3raeiy)

(i) AgCl (39a 27@e) + 2NH4OH — “‘X°
s X° & —

(1) [Ag (NH;5):] Cl

(2) [Ag (NHa)2Cl] (OH)2

(3) [Ag (NH3)2] OH

(4) [Ag (NH3)]Cl

(5) IR ueH

71. In Paper Chromatographic Separation, the 71 UuR guiciRaa gergsvor ¥, & rsia diffes &
Rt value of an unknown compound is 0.82. The R¢<hT A9 0.82 & | T A, B, C& HIRIT IRTHRT
front due to compounds_A, B, C are 2_4, 28, 24, 28, 30 em € 3R Rege 3TET 34 cem 2
30 cm and solvent front is 34 cm. Identify the =TT A 9 TR Y —
unknown compound -
mc @ A M C @ A _

(3) B (4) A and C both ® B @ AR CaF
(5) Question not attempted (5) srgaRa ue

72. In the extraction of copper, metal is formed inthe ~ 72- HR & fT=pyor #, 99— URads H f&a
Bessemer converter due to which reaction? sifAfdhar @ SRoT grg 9941 27
(1) CuS —2Cu+S 2 (1) Cu:S —2Cu+S
(2) CuS +2Cu20 — 6Cu + SO i (2 CusS +2Cu20 — 6Cu + SO
(3) 2Cu0 — 4Cu + 02 S (3) 2Cu20 — 4Cu + O3
(4) Fe + Cu,0 — FeO + 2Cu (4) Fe + Cu20 — FeO + 2Cu
(5) Question not attempted (5) SrgaiRa T

73. If bond length of Cla = 1.98 A and bond length  73- IfY Cl, &1 97T (a1 1.98 A AT Hy BT €81 TS
of Ha is 0.74 A, what will be the bond length of 0.74 A B, A H-Cl & §g <qrs F1 BAN
H-Cl1 (If electronegativities of Cl and H are @R o dn H @ RgakoTEea BT
3.1 and 2.1 respectively)? 3.19T 2.18)7
(1) 1.36 A 2 1.18A (M 136 A (2 1.18 A
(3) 145A 4 127 A (3) 1.45 A @ 1.27 A
(5) Question not attempted (5) gRa U

74. The major product expected from dinitration of ~ 74. 3—fATEAlhATal © QT IR ARSIHRUT A Ufe
3-methylphenol is - U9 SUIE ©§ —

OH OH OH OH
NO, O,N NO, O.N
(1) iy 1) cH, Q) o CH,
O,N O, ON L
OH. JH OH ol
O.N Lt MO, O.N NO, NO,
(3) CH, 4 CH, (3) e 4 CH,
L J NO,
(3) Question not attempted (5) srgaRa w== z
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76.

78.

75.

77.

Arrange the following in decreasing order of
their boiling points (°C) -

(1) n-butane > isobutane > n-pentane >
iso-pentane > neopentane

(2) neopentane > isopentane > n-pentane >
isobutane > n-butane

(3) n-pentane > isopentane > neopentane >
n-butane > iso-butane

(4) isopentane > neopentane > n-pentane >
isobutane > n-butane

(5) Question not attempted

Consider the following statements and choose

the correct option.

Statement (A) : If a sample is irradiated with an
X-ray beam, then the sample
sometimes emits other X-ray
beams, this process is called
X-ray fluorescence.

Statement (B) : The wavelength of the X-ray

fluorescence enables to
determine the element present in
a sample.

(1) Statement (A) is incorrect but (B) is correct

(2) Both statements (A) and (B) are correct

(3) Statement (A) is correct but (B) is incorrect

(4) Both statements (A) and (B) are incorrect

(5) Question not attempted

A compound is heated with dilute H2SO4 and

produces a gas. A filter paper dipped in a lead

acetate solution turns black when exposed to this
gas. Identify the gas and anion present in the
compound - EzE

(1) H.S, Sulphide ion (S*) Kz

(2) SO, Sulphate ion (SO4+%) [

(3) H:S, Sulphate ion (SO4+%)

(4) SO, Sulphide ion (8%)

(5) Question not attempted

The absolute error expressed as a percentage of
the true value is known as -

(1) Accuracy

(2) Average deviation

(3) Relative error

(4) Standard deviation

(5) Question not attempted

75.

76.

77.

78.

fr=falRaa &1 S96 g@u=ied (°C) & "ed &4

H agfRerd oY —

(1) n-=&ged > FgdIYST > n-Ued > g
> famies

(2) IS > oAU > n-tUcH > IMgHArgeH
>n—&’{é'=[
(3) n-UcH > ezt > AN > n-eRH >
SIERI Ca|
(4) agdIueH > e > n-UeH > agHegeH
>n—?-'j\é_-[
(5) srgalRd ue
f=fafRaa ol w® AR It @ a9
faeu &1 =g SIY |
FUA (A) : AR A T BT v T
fafepxforg fasar sirg, o a8 =
FHI—HHT 3T TFF— d19] BT Soaoi
BT 8, $9 UhH BT Taag— gl
HET ST 2 |
HAA (B) : Taa— uforaifta &1 axiresy, fodT
T SuRerd aw@ &I FuifRa &=
¥ ey Bl 2|
(1) B2 (A) Tad 2 4R (B) WET ®
(2) T B (A) 3R (B) TEI &
(3) HYT (A) WET & TR (B) T ©
(4) 19 ®UF (A) IR (B) 7Terd &
(8) xR weA
U I &1 T HoSO04 B A1 TH fham wran
g 3R '3 i g9t B | o UHice @ A
<41 811 U ooy UF 89 19 & Hus # I
YR HTeAT 81 STl & | diffres & Scaford 99 O
FOMIH &I g8 By —
(1) H,S, GehTss 3 (SY)
(2) SO, Fehe 3T (S047)
(3) HaS, Ache 3T (S04>)
(4) SO,, FAeHIZS AT (ST)
(5) argafRa A
Ruer gfe, o ardfde a9 & ufdera & w9 F
Uefd @1 IRl 8, FEdRl § —
(1) Temefar
(2) w7 fage=
(3) mier IR
(4) A9 faga=

(5) gaRa gwA

e

§
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79.

80.

81.

82,

Match Column-I (Process) with Column-II
(Related element) -
Column-I
(Process)
(A) Cyanide process
(B) Van Arkel process
(C) Mond’s process
(D) Parke’s process

Column-II
(Related element) E%Ei
(i) Refining of Zr o

(i1) Refining of Ni

(iii) Desilverisation of argentiferous lead
(iv) Extraction of Au

The correct option is -

M (A) - @(v), (B) - (D), (O) - (iD), (D) - (iid)

(2) (A) - (D), (B) - (iii), (C) - (i), (D) - (iv)

() (A) - (@), (B) - (iv), (O) - (i), (D) - (iii)

(4) (A) - (iv), (B) - (iii), (C) - (i1), (D) - (1)

(3) Question not attempted

A soil of pH 10-11 is most likely to be found in
which types of climate?

(2) Cold climate

(4) Arid climate

(5) Question not attempted

(1) Humid climate

(8) Tropical climate

In titration of strong acid and a weak base, which
of the following is a suitable indicator?

(1) Methyl orange

(2) Cresol red

(3) Thymol blue

(4) Phenolphthalein

(5) Question not attempted

Which of the following alcohol will give positive
1iodoform test?

H
(3) AN = (4) A\
HsC
CHz OH

(5) Question not attempted

79.

80.

81.

82.

HiAH—| (I5HH) BT HAT DicH—I| (Fafea o)
J PIfsg — |
HicH—
CER) |
(A) \IATSS UhH |
(B) T Mo UsHH ‘
(C) #Hie UshH
(D) UTH UsHH
(S Ko
GEICERGE))
(i) Zr &1 gRspRoT
(i) Ni T gR=HOT
(iii) Xoragad A ¥ faReideRor
(iv) Au T fepyor
I8 fadea & —
(1 (A) - (v), B) - (), (C) - (i), (D) - (iii)
(2) (A) - (), B) - (iii), (C) - (ii), (D) - (iv)
() (A) - (1), (B) - (iv), (C) - (i), (D) - (iii)
(4) (A) - (iv), (B) - (iii), (C) - (ii), (D) - (i)
(5) 3g=IRa U
10-11 pH ITell H&T fHd TSR &I STearyg H qg
ST @ Fa9 e FHIET 87
(1) arrdd STerarg (2) 331 SeEry
(3) SwrHledda Saarg (4) Yh Soay
(5) IrgRIRT U=
Tqel 3 IR gdol &R @ A | fefefaa
i 9§ BHar SugE Yas 87
(1) faermga siiva
(2) fopare Y
(3) ergHIeT =
(@) frareuafer
(5) raRa =
ffoRea § ¥ o toolsd TSRS
JMTSIBIH TLEToT TIT?

(1) @—-OH 2) H%

OH /H
3
(3) /\/ (4) ule 1

CHs
(5) srg<iRa uwA

T LT S T T L N
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83.

84.

85.

86.

87.

88.

89.

The band gaps (in kJ mol-') of C, Si and Ge,
respectively are -

(1) 580, 105, 69 (2) 105, 69, 580

(3) 69, 105, 580 (4) 580, 69, 105

(5) Question not attempted

The technique of analysis, where the substance
being determined is converted into an insoluble
precipitate which is collected and weighed, is
called -

(1) Titrimetric analysis

(2) Coulometric analysis

(3) Gravimetric analysis

(4) Potentiometric analysis

(5) Question not attempted

Which of the following is responsible for the
alkaline value of a soil?

(1) Free calcium carbonate

(2) Silica particles
(3) Free aluminium oxide KRG
[Elgs

(4) Organic matter

(5) Question not attempted
0.15 g of a solute dissolved in 15 g of water boils
at 100.216°C. If Ky, =2.16°C/molal, then mass of
the solute is -

(1) 500¢g (2) 100.0 g

(3 752 ¢ 4) 216¢

(5) Question not attempted

The geometry of Lewis acid adduct

[BF3.0(C2Hs)2] is -

(1) Planar (2) Square planar
(3) Tetrahedral (4) Bent

(5) Question not attempted

In liquid NH3, sulphamic acid acts as -
(1) Tribasic acid

(2) Monobasic acid

(3) Dibasic acid

(4) Tetrabasic acid

(5) Question not attempted

Benedict’s test is used to confirm the presence of
which of the following functional group?
(1) -OH (2) -COOH

(3) -NH2 (4) -CHO

(3) Question not attempted

83.

84.

85.

86.

87.

88.

89.

C,Sid Ge & d% 19 (kJ mol-! #) thHwr: & —
(1) 580, 105, 69 (2) 105, 69, 580

(3) 69, 105, 580 (4) 580, 69, 105

(5) srg<iRa ueA

fageryer o1 98 ga-e, o fFuiRa fae am
qrel Ut Bl STg-RITe aed # uRafda wws
gaﬂ%mméaﬁ??ﬁww%, FEATT
(1) srgAiE fageryor

(2) TR Reegor

(3) WRTHP fageryor

(4) fovafad fagergor

(5) argaiRa o

FrafoRea 4 & s 58 & o’ 59 @
oy STReErRY 87

(1) gaa dfeerm sEHe

(2) faferdT Hor

(3) Hgad TgAfTH ez

(4) wrEfye g

(5) IRIRT wed

015 gfdela @7 15 g o H " WX d8
100.216°C R Il & | AR Kp = 2.16°C/HIoAcA
81, AT fdela &1 AR & —

(1) 500¢g (2) 1000 ¢
(3) 752 ¢ (@) 216¢
(5) argaRRa e

Fed 3T ARNIE [BF3.0(CoHs),] &1 SaTfafd
& _

(1) e (2) FFR AT
) TIgEHAB™ (4) 931 g3
() srgaRa ued

%9 NH3; H AeHIA® 37 B &Rl & —

(1) FeaRaT a7 & w9 |

(2) THER®T 3F e © w9 |

() fgeaRa o & w9 H

(4) TTEIRS! 3+ & =Y H

(5) IRT =

frafolRea & 9 5 fhacis S @ oxie
B IAf3ae uRierer &1 SYART B Siar 27

(1) -OH (2) -COOH
(3) -NH: (4) -CHO
(5) srgaRd e

93
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90. The correct order of soil profile showing 90 H&RI &1 ST §Y J&T UHEA BT SR A A
horizons from top to bottom is - Bl AR FEI PH © —
MA—-B—-C—-E—>O M A—-B—-S>C—SE—>O
@ Cc-5B>A-SE—>O @Cc—-B>A-SE-SO
B B5C—>A—-SE—O B B5>C>A—-E—>O
B A e RS 4 0—-A—->E—-B->C
(5) Question not attempted (5) IrgiiRa ueA

91. The square of Standard Deviation is called - M. A% AT &1 I HEaAT & —

(1) variance (1) goT

(2) t-test (2) t-ogderor

(3) Q-test (3) Q-udreror

(4) chi-square test (4) BTE—aT TSEToT
(5) Question not attempted (8) argaRRa ueA

92. Match the Nutrient Type given in Column-(I)  92- ®feH—(1) ¥ AU ¢ Uwd USRI & FGHAA
with the Elements given in Column-(II) and BicH—(1l) # W TU g 9 HIfTw o g
Eh;)ose the correct answer from the code given fag T @e I FE SR g |

elow. - s
Colm.nn-gll Column-(I1) (q?qiq ;alﬂir) W(a;—) H
(Nutrient Type) (Elements) :

(A) Primary nutrient (i) Ca, Mg (A) SISy (i) Ca, Mg
(B) Secondary nutrient (ii) Fe, Mn (B) feciars e (i) Fe, Mn
(C) Micronutrient (iii)) N, P (C) geayH (i) N, P
Code - REe-—

(1) (A)-(G), (B)-(ii), (C)-(iii) (M (A)-@), (B)-(ii), (C)-(iii)

(2) (A)-(ii), (B)-(iii), (C)-() (2) (A)-(ii), (B)-(iii), (C)-(1)

(3) (A)-(iii), (B)-(i), (C)-(ii) () (A)-(iii), (B)-(), (C)-(ii)

(@) (A)-(iii), (B)-(ii), (C)-(i) (@) (A)-(iid), (B)-(ii), (C)-(i)

(5) Question not attempted (5) SrgIRd ue

93. Calculate Amax of following compound by using 93 gegs — R o9 &1 Swdmm &=d BY

Woodward-Fieser rule - fA=foRaa TIPS B Amax DI TTOET BN —
o 0
N B '
=
=%
(M 267 mp (2) 280 mp (1) 267 mp (2) 280 mp
(3) 255 mpu (4) 285 mp (3) 255 mu (4) 285 mpu
(5) Question not attempted (8) srg<ifRa ueA

94. The correct decreasing order of First Ionization 94 f=foRaq @1 gerd M= YT &1 gear gan
Enthalpy of the following is - HE HH B —

(1) Si>Mg> Al>Na (1) Si>Mg> Al >Na
(2) Al>Si>Mg>Na (2) Al>Si>Mg>Na
(3) Si>Al>Mg>Na (3) Si> Al>Mg>Na
(4) Mg>Na> Al>Si (4) Mg>Na> Al>Si
(5) Question not attempted () srgaRa ue

93 -




95.

96.

97.

Copper matte is -

(1) Cu (molten metal) + SO,

(2) CusS + FeS

(3) CuzS + Sand + Coke

(4) CuszS + Fe2S3 + SO»

(5) Question not attempted

Number of Coulombs required to oxidise one
mole of H2O to Oz is -

(1) 96500 C (2) 96500/2 C

() 193x10°C (4 1.93x10°C

(5) Question not attempted

Match the various terms given in List-I with their

statements given in List-II and choose the correct
answer from the code given below -

List-I

(Term)
(A) Adsorption Isobar
(B) Frendlich Adsorption isotherm ElSE
(C) Adsorption Isostere %—%&%
(D) Langmuir Adsorption isotherm

List-11

(Statement)

(i) Curve showing the variation of pressure
with temperature for a given amount of
adsorption.

Equilibrium between a gas and the gas
adsorbed on solid
monolayer adsorption on a homogeneous

(i)
surface, assuming
surface.

Cure showing the effect of temperature on
the extent of adsorption at a given pressure.
Relationship between the magnitude of
adsorption and pressure can be expressed

(iii)
(iv)

by an empirical equation.
Code -
(1) (A)-(iii), (B)-(iv), (C)-(1), (D)-(1)
(2) (A)-(1), (B)-(ii1), (C)-(11), (D)-(v)
(3) (A)-(ii), (B)-(), (C)-(iv), (D)-(ii1)
(4) (A)-(ii), (B)-(iii), (C)-(1), (D)-(v)
(5) Question not attempted

9. Hfux fe & —

96.

97.

(1) Cu (=< arq) + SO-

(2) CusS + FeS

(3) CuzS + 30 + B

(4) CuzS + FeaS3 + SO2

(5) IR we
W%HzozﬁOzﬁmmzﬁm
NITAH FHAH B G & —

(1) 96500 C (2) 96500/2 C
(3) 193x10°C (4) 1.93x10°C
(5) Ig<aRa us

-1 # & ™ /= usl & g=@-11 | &3
T STG BT B AT GHAOIT BIfoTd Td A
R T g # I ) Reew &1 997 HIRw —
-1
(@)
(A) FHSTE ey
(B) FHATT Whsferd fereimygor
(C) 3IfErEYoT JTSHRey ¥l
(D) HHCTYT <R SfEremyor
11
C))
() s fafyag s #En & oy aw &
12y g9 H gRads g9 arer 956 |
(i) T N9 g7 o Fdag R ARPG I9 &
g ArRreRe U8 AWG ga b srferemor
Faifl ¥dg UR U RO BT © |
Gii) te FifFEa T@ o= SAf&Eyor 1 5 W
dIUHH D F9Id BT I ATl 956 |
(iv) STRENSUT &1 AT Yd <14 & §Td BT Fa
S UH Urifie GHieReT gRT gdad fdhan
ST AhaT B |
#e —
(1) (A)-(iii), (B)-(iv), (O)-(1), (D)-(i1)
(2) (A)-(1), (B)-(iii), (C)-(i1), (D)-(1v)
(3) (A)-(i1), (B)-(1), (C)-(1v), (D)-(ii1)
(4) (A)-(i1), (B)-(iii), (C)-(1), (D)-(1v)
(5) SrgiRd weA
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98. f=feIRad H | I=rar U fa9afaciia g
& forg TTera €7?
(1) sl ok &R &1 wnfdes wmed &1 gd
SFHRI aRa® T8 © |
(2) Irafyes wigar § uRads gar 8 R
SUYFd Foldgls & [99d Bl ATIHR ST ofl ‘
GSEI
() 39 ¥ fegal 4 78 fFar o dar 2|
() z98 IJgaUe & Fam @& " sodsie
fava &1 A= fasam ST 2
(5) Question not attempted (8) srg<Ra gz

99. Consider the following statements and choose  99- f=foiRed woHl R foar FIvw & w8
the correct option. fa®bea &1 =TT P | l
Statement (A): Loss of moisture, sublimation HYF (A): FH BT B, SHedura= iR faenyor, |

and desorption are endothermic S IfAfharg € safere pTA
;eactior(;s and hence can be TRT ST &Y ST gaa) &
Statement (B): ;ff;fne?i/o{;:ﬁ;lg could not be LRk amg& ! :R:Q SIHT Sk
detected in absence of Dynamic . !DMA) @
Mechanical Analysis (DMA). 3 orfer # W Tl T T e |
(1) Statement (A) is false but (B) is true %_gu% (1 Eﬁeﬁ (A) 7T ¥, g (B) el §
(2) Both statements (A) and (B) are false ~ [=iwss (2 ST DAT (A) 3R (B) Terel &
(3) THI ®UF (A) 3R (B) @8l &

(3) Both statements (A) and (B) are true
(4) Statement (A) is true but (B) is false (4) w2 (A) W&l 8, URg (B) T ©
(5) srgaRa gz

(3) Question not attempted
100. An alkene ‘X’ (Mol. formula CsHip) on 100-g& Todld ‘X’ (RSTepT 319] §F CsHio B) SN
ozonolysis gives a mixture of two compounds Iuge | g ISl ‘v’ 3R 22 &7 fAor a7
Y’ and ‘Z’. Compound ‘Y’ gives positive 21 e v BT gleror 291 2 s e
Fehling’s test and also forms iodoform on o7 NaOH ¥ fafihar gRT SIS a=mar |

treatment with I and NaOH. Compound ‘Z’ AT 22 BRI TSl e N

does not give Fehling’s test but forms Iodoform. e :
The compounds X, Y and Z respectively are - gl X, Y9Ik 2 g 5 —
(1) cg,—cH = ? — CH,, CH3CHO, CH3COCH;,

(1) cH,—cH = (ll — CH,, CH3CHO, CH3COCHj;

88. Which of the following statement is
INCORRECT for potentiometric titration?
(1) Prior information of relative strength of acids

and bases are not required.

(2) There is change in ionic concentration which
can be followed by measuring the potential
of suitable electrodes.

(3) It cannot be carried out in coloured solutions.
(4) It involves the measurement of electrode
potential with the addition of the titrant.

CH, CH,
(2) CH, = CH—CH, — CH, — CH; , HCHO , (2) CH, = CH — CH, — CH, — CH3 , HCHO .
CH5;CH,CH,CHO CH3CH,CH,CHO
() cu,—cH = € — Ci,, CH3COCH;, CH;CHO () cu—cn = € — CH,, CHyCOCH3, CH3CHO
CH, CH,

(4) CH3 o CH = CH T CH2 e CH3 > CH3CHO s

CH5CH,CHO
(5) Question not attempted

CH5CH,CHO

(8) erg<iRa gz
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101.

102.

103.

104.

Match the Name of tests given in List-I with the
functional groups given in the List-II and choose
the correct answer from the code given below -

List-I List-IT
(Name of Test) (Functional Group)
(A) Lucas test (i) -CHO
(B) FeCls test (ii) R-OH
(C) Baeyer’s test (ii1) Ar-OH

(D) Fehling’s test
Code -

(1) (A)-(i1), (B)-(iv), (C)-(iii), (D)-(1)

(2) (A)-(i1), (B)-(iii), (C)-(iv), (D)-(1)

() (A)-(1), (B)-(iv), (O)-(iid), (D)-(i1)

(@) (A)-(iD), (B)-(iii), (C)-(1), (D)-(iv)

(5) Question not attempted

Data set : 19.4, 19.5, 19.6, 19.8, 20.1 and 20.3.

The mean and median of the above data set

(1v) Unsaturated group

respectively are -

(1) 19.78 and 19.70

(2) 19.70 and 19.80 gjg
=5

(3) 19.60 and 19.60

(4) 19.40 and 20.30

(5) Question not attempted

The percentage of mass change in the following
reaction is —

A
Ca(OH); sy — CaOcs) + Hz0(g
‘ Heat
(1) 3.21% (2) 2.43%
(3) 32.1% () 24.3%

(5) Question not attempted

The electrical conductivity of a semiconductor at
normal temperature is in the range of -

(1) 10-8to 10%chm—tcm—!

(2) 10-°to 1020hm~*cm-?

(3) 10-7 to 10*ohm~*cm~*

(4) 10-%to 1050hm~—* cm~*

(5) Question not attempted

101.

102.

103.

104

-1 # A 17 wWiei & 9 by g1 A
ey w1y fharas wqel & Wy gafora FSir
g A R T @ d 9 9 SR FT aad
P —

-1 -1
(TREoT HT AM) (forares |9 E)
(A) FHTH TURIEToT (i) -CHO
(B) FeCls ulefor (i) R-OH
(C) 9T% TIeToT (iii) Ar-OH
(D) BT uieror (iv) STHEGC T8

'az‘\a —

(1) (A)-(ii), (B)-(iv), (C)-(iii), (D)-(i)

(2) (A)-(ii), (B)-(iii), (C)-(iv), (D)-(i)

(3 (A)-(D). (B)-(iv), (C)-(iii), (D)-(ii)

(@) (A)-(ii), (B)-(iii), (C)-(i), (D)-(iv)

(5) argaiRa weA

et gz : 19.4, 19.5, 19.6, 19.8, 20.1 31R
20.3 |

SWRIFd TPl WH=II & ARG AR HAIGHI
HHI: § —

(1) 19.78 3R 19.70

(2) 19.70 37k 19.80

(3) 19.60 3iR 19.60

(4) 19.40 3R 20.30

(5) argeiiRe e

frafafag affear & somm oRaad &
gfaea & —

A
Ca(OH), () — CaOs) + Ha0(g
ST
(2) 2.43%

(4) 24.3%

(1) 3.21%
(3) 32.1%

(5) Srg<iRa WA

.U fETad B A dd W) fagd arernd

PR T —

(1) 103 1083ohm-*cm~?!
(2) 10-°A 1020hm-tem~?
(3) 10~ 10*ohm-tecm~?
(4) 10~ 1050hm~*cm~*

(5) mgﬂﬁﬁu‘ﬂ
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105.

106.

107.

108.

109.

110.

111.

Shift of absorption maximum towards shorter
wavelength is called -

(1) Hyperchromic effect

(2) Hypochromic effect

(3) Bathochromic Shift

(4) Hypsochromic Shift

(5) Question not attempted

Based on the texture and structure, which soil is
heavy, impermeable and chemically rich in
nutrients -

(1) Sundry soil (2) Gravel soil

(3) Clayey soil (4) Loamy soil

(5) Question not attempted

When a few drops of sodium nitroprusside
solution is added to Lassaigne solution, purple
colour appears due to formation of complex -
(1) Naz [Fe (CN)s (NO»)] .
(2) Na> [Fe (CN)s NO] R‘%
(3) Nas [Fe (CN)s NOS] =l
(4) Naz [Fe (CN)s S]

(3) Question not attempted

Nitrobenzene can be converted into
N-phenylhydroxylamine by -

(1) LiAlH4 (2) Zn/NH4Cl

(3) Sn+ HCI (4) Fe/steam

(5) Question not attempted

The titration of silver with ammonium

thiocyanate is an example of -

(1) Redox titration

(2) Precipitation titration

(3) Complexo metric titration

(4) Acid-base titration

(5) Question not attempted

Which of the following is a Super Acid?
(1) Oxalic acid (2) Acetic acid
(3) Perchloric acid (4) Benzoic acid
(5) Question not attempted
Coordination number of Cd and CI in CdCl,
Cubic Close-Packed (CCP) structure is -

105.

106.

107.

108.

109.

110.

111.

Pl FEd & — |
(1) gorifaemh w9
(2) argqauil gaTg

(3) guiTcpdT Az
(@) Tuigeyt favenus

(5) orRd g

gF1GC UG Gl & MR U 9T [URTH T
96 IAEHET § ARGT a1 § —

(1) IS gar (2) I ger

(3) fre 7= (4) T TaT

(5) ergeRa gz

9 o faere # |ifsas D BO

< fhamft ol € a‘raﬂﬂhwfi‘rﬁwﬁéw ;
& T & sRo et <ar § — !
(1) Naz [Fe (CN)s (NO»)]

(2) Na; [Fe (CN)s NOJ]

(3) Na4 [Fe (CN)s NOS]

(4) Naz [Fe (CN)s S]

(5) gl gz

AENSM Bl N-aeoeesitaeri=s F
gRafda fasar o doar @ —

(1) LiAlHsgRT (2) Zn/NH4Cl g1

(3) Sn+ HClgRr (4) Fe/9mq gwT

(5) srgRa ==

fiear &1 SR JRiaRFT & Wer SEe
U SETERT § —

(1) XSfeq 3rgATIH

(2) Irqergor STFATIA

Q) dqafdg sgHT

(4) IrT—&TR AT

(8) srqailRa weq

fFrefaRaa § & s & afy aner 2

(1) Sifasifers 3t (2) YRafess st

() wRFAIR® 3T (4) I=ifsd 3t

() rgxIRa ueH

CdCl, & = Ffds—dgfera (ccp) dvamr
Cd T Cl B TFag H&aT 8§ —

e ———

(1) 6:3 (2 8:4 (1).6:3 (2 8:4
(3) 4:4 4) 6:6 () 4:4 @ 6:6
(5) Question not attempted (5) SrgaRa e
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112,

The ‘A’ horizon of soil profile is commonly
called -

(1) Topsoil (2) Bottom soil

(3) Subsoil (4) Bedrock

(5) Question not attempted

112. 357 UrpTsel &1 ‘A’ ER MU GETl & —

(1) Su Har (2) el Jar
(3) FEN—Hqar (4) SRR
(8) Ig=IRT e

113. Consider the following Assertion (A) and 113. fforRaa aifedem (A) sk &R (R) ) AR
Reason (R). HIFTY |
Assertion (A) : Soil containing large amount of AABAT (A) : &S A= H gfHw ugred gad
humic material is often acidic. HET UT: 319 Bl & |
Reason (R) : It is due to microbial BRI (R) : U8 HEFTH TRl & Geroidl
decomposition of organic matter JITECH &b HIROT BIdT & I SUTG=R
which produces organic acids as JIEl ® w9 H FHETdH 7T Bl
metabolic products. ;% IATGH BT 8 |
Choose the correct option - OES el fAeeg &1 Iaa iy —
(1) (A) is incorrect, (R) is correct (1) (A)Ted &, (R) & 8
(2) Both (A) and (R) are incorrect (2) THT (A) 3R (R) Tord &
(3) Both (A) and (R) are correct but (R) is not (3) TET (A) 3R (R) el § TR=g (R), (A) BT HET
correct reason of (A) FHIROT T8l 8
(4) Both (A) and (R) are correct and (R) is (4) T (A) 3R (R) F&1 & 3R (R), (A) BT T&
correct reason of (A) BRI &
(5) Question not attempted (5) gRd ue
114. An inorganic compound when mixed with 114.7% e Iffe S99 SeRiE a1 s=i™
potassium hexacyanoferrate (II) in neutral or HegH A OeRH RREmRe () & 91
acidic medium gives reddish-brown precipitate femT ST 8, O AR T BT IEET (A)
(A). This prec.ipitate is soluble ig ammonia 2T € | I8 a8y T B ¥ geeeie s
soluuop and .g1ves dark-blue solution due to 2 3R I (B) D HRT TN A T BT o=
f:?;i?ﬁ&;g ion (B). What would be A and B, ST 2| HHIE A 99T B 9T 217
(1) Cuz [Fe (CN)s], [Fe (CN)s]* (1) Cu: [Fe (CI;I)s], [Fe (CN)sql“'
(2) [Cu (CN)I*, [Cu (NH3)a]** (2) [Cu (CNDal + (G ONHLME”
(3) [Cu (CN)4)*, [Fe (CN)s]* (3) [Cu (CN)4]*, [Fe (CN)s]
(4) Cuz [Fe (CN)s], [Cu (NH3)a]?* (4) Cuz [Fe (CN)g], [Cu (NHs)4)**
(5) Question not attempted (5) gk weT
115. If 12 g urea, 36 g glucose and 68.4 g sucrose are  115-Jfq 12 g JRAT, 36 ¢ b AT 68.4 g GehId
dissolved in water to make 600 mL of solution at ®T o ¥ "ge®R, 27°C W 600 mL e
27°C, then osmotic pressure of the solution will ST ST €, 9 faeT ®T WRIENYT €19 BRI—
be -
(1) 14.76 atm. @) 16.26 atm. (1) 14.76 atm. (2) 16.26 atm.
(5) Question not attempted (8) IgaRa ==
116. Which of the following relationship between 116. fofoiRaa & & Ir@eyoT (A) 3Tk FRIWT (T) &
Absorbance (A) and Transmittance (T) is 9= &7 BIEET G 98l &7
correct? (1) A =log P/Po (2) A =log T/Po
(1) A =log P/Pg (2) A =log T/Po 3) A=-log T (4) A =log 2 P/Po
(3 A=-logT (4) A =log2P/Py %
(5) Question not attempted (5) argaRa e
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117.

118.

119.

120.

121.

Which of the following technique can elucidate
the structure of a crystalline solid matter?

(1) X-ray Diffraction

(2) Nuclear Magnetic Resonance Spectroscopy
(3) X-ray Fluorescence Spectroscopy

(4) UV-Visible Spectroscopy

(5) Question not attempted

The hyperaccumulation of metals by some plants
is known as -

(1) Pseudo-remediation (2) Hyperremediation
(3) Phytoremediation (4) Metaloremediation
(5) Question not attempted

Which of the following equations represent
Bragg’s Law?

(1) nA =2dcos® (2) nA = 2dsin®

(3) nA =dsin® (4) nA = dcos®

(5) Question not attempted

Incorrect statement is -

(1) Aldehydes convert into carboxylic acids on

reaction with potassium permanganate.

(2) Benzaldehyde on heating with Fehling’s

solution gives reddish-brown precipitate.

3)

Acetone on reaction with hydrazine followed
by KOH and ethylene glycol gives propane.

(4) Acetone on reaction with sodium

hypochlorite gives chloroform.
(5)

Consider the following statements and choose
the correct option.

Question not attempted

- Statement (A) : With the help of AAS, we can

determine the total cadmium
content of a water sample.

The determination depends on
whether the cadmium exists as
chloride, nitrate, sulphate or
other salt.

(1) Both statements (A) and (B) are incorrect
(2) Statement (A) is incorrect but (B) is correct
(3) Statement (A) is correct but (B) is incorrect
(4) Both statements (A) and (B) are correct

(5) Question not attempted

Statement (B) :

117.

118.

119.

120

121

[E]=5 5]
}_’?.
[=1:%

£y

for=foRad 5 9 o9 de-ile fheeda o™
uerel &Y AxaT &1 HuRer wvedr 87

(1) vga— fagd=

(2) I I gare WaglHf

(3) ve— wfadifa Wesifafy

(4) RIETH—geEHE WagifAfa

(5) rg<IfRa ==

B Uil gRT Urgeil &1 AfTE=gT B & —
(1) s—AfegeE (2) ERRHREYEH

() pEeRASEEE  (4) FTARATSTRA

(5) FgaRda wed

fr=fafRed & 9 sr=rar e 87 & 9 3
uef¥a @xar 87
(1) nA =2dcos8
(3) nA =dsin®

(5) org<iRa U=

(2) n\ =2dsin®
(4) ni =dcoso

- IR B T —

(1) TR WHTHe ® 9 Ak W
Ufceegs, dEifdafers sl d uRafda &
ST & |

2) wefelm ey & I A FA W
JolfeeEIgS TTe—4RT JaaT < 2 |

(3) VAEH BISSINIA & 1 deggerd KOH el §
U Targeia @ W IffHar o U |
T €

(4) Aifeas sEUdeINIge & A fAfhar o=
Ve, FRIBH <dr & |

(5) srgaRa we

Frafofaa seml w® faar @I @ |

famed &1 TaT B

BAT_(A) : AAS D ERT & ol & il =79 #
Tl DA o7 A= FEiRa &=
THd § |

B (B) : DT fARYT 39 910 R iR @=ar
g & dsfag wirss, AEge,
Fehe IT A U & w9 H Ao
g ar =gl |

(1) g9t @2 (A) 3R (B) TTerd &

(2) T (A) TAd B TR (B) HEl &

(3) ®orT (A) W © U (B) Teid ©

(4) ST ®F (A) 3R (B) Wal €

(5) sgaRa we
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122. The softening of water is facilitated by -
(1) Thin Layer Chromatography
(2) Affinity Chromatography
(3) Size Exclusion Chromatography
(4) Ion-Exchange Chromatography
(5) Question not attempted
123. The correct

Hasselbalch equation is -

expression of Henderson -

[conjugated base]
[acid]
[conjugated acid]
[base]

(1) pH = pKy, + log

(2) pH = pK, + log
(3) pH = — log [H"]
(4) pH = pK, + log

[conjugated base]
[acid]

(5) Question not attempted

124. NaCl crystals appear yellow due to -
(1) Frenkel defect

(2) Interstitial space g%?
(3) Schottky defect DR

(4) F — centres
(5) Question not attempted
125. Which of the following pair of species represents

correct description of their magnetic behaviour?

(1) O2*, O2 — Both Paramagnetic

(2) 02+, 022~ — Both Paramagnetic

(3) 02, 022~ — Both diamagnetic

(4) 02—, 022~ — Both diamagnetic

(5) Question not attempted

126. What does Rt (Retardation factor) means in Thin

Layer Chromatography?

(1) Distance travelled by compound x Distance
travelled by solvent

(2) Distance travelled by solvent front —
Distance travelled by compound

(3) Distance travelled by compound/ Distance
travelled by solvent front

(4) Distance travelled by compound + Distance
travelled by solvent

(5) Question not attempted

122.

(1) udell R goiciRgesy

123.

124.

125.

126.

el BT Jg gk H ASE HXT & —

(2) Fegar aofeiRaat

(3) PR afgwhHroT guieiRgat

(4) g — faffsy guiaiRaast

(5) srgaRd gea

BUSYTT — ddd® (Henderson — Hasselbatch)

AHIBROT BT Al AMIaT & —
[conjugated base]
[acid]
[conjugated acid]
[base]

(1) pH = pKy, + log

(2) pH = pK, + log
(3) pH =—log [H*]
(4) pH = pK, + log

(5) srgxilRa g

NaCl foeedi & diel fRxars 39 &1 &R & —

(1) w=pa T9

(2) Sfar®riy w@=

(3) wifecd! TN

4 F-a=

(5) <R U

fF=foiRaa Wiy 4 4 o= g™, S5 a

DY FIER B Fel ARAT BT 27

(1) 0+, 0; — QI s

(2) 02+, 022~ — Sl JFEH

(3) Oz,Ozz_Hﬁﬂﬁw

(4) 0:-, 022~ — Tl ufag=aa

(5) srg<IRa u==

el IRa quieiRgd! ¥ Ry (A9 BR®) BT @l

3ref &7

M) AN g1 T B TS gD x amE g™
T B TS A

() Remre s g™ 97 @ ¥ g — e
ERT T &1 T8

(3) Jiffres gRT T @1 T3 X1 / fIama® 31 g™1
TI B TS

(4) AT gRT 9O @7 TS g + e gwi
T DT Y

(8) srg<iRa uz=

[conjugated base]
[acid]
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127.

The percentage of mineral matter derived from
the breakdown of rocks in silty loam soil is -

(1) 25% (2) 45%

(3) 70% 4 5%

(5) Question not attempted

127. egaa <Me g 4 ggml @ fdged 9 urw

wfrsl ueref &1 ufasa gy & —
(1) 25% (2) 45%
(3) 70% (4) 5%
(5) srgaRa we

128. On the basis of MOT, what is the ground state  128- MOT & MR W IS FHIGRES (IC)
electronic configuration of Iodine monochloride BT Yol IHARAT SoFS b = a7 87
(e (1) 16?20 307 1n* 2mc*
(1) 102202 30% 1% 2 ; () 1P 92 {r e g
(2) 102 20? Int* 302 21t 467 g&fg} 02 07 . 01 & Gﬁ
(3) 10? 20? 1n? 302 2t* 402 =l () 1% 20 In* 30° 21 40°
@ 162262 11t 362 210 (4) 10?262 11* 302 21*
(5) Question not attempted (8) SrgaRa ue
129. Tonic substances like ZnS, AgCl, AgBr and Agl  129-ZnS, AgCl, AgBr @ Agl UBR & JAH
show - geref Suid § —
(1) Schottky defect (2) Impurity defect (1) sifeadT <y (2) gl A9
(3) Dislocation defect (4) Metal excess defect (3) faremus 9w (4) 1g e Ty
(5) Question not attempted (5) Irg<iRa U=
130. In the following set of reactions, ethanoic acid  130. gifafdsaeil & fr=feRad wg=rg # vz
gives the product ‘C’. 371 IATE C =T B |
CH:COOH + PCls  —> CsHs (i) CeHsMg Br/ether CH:COOH + PCls  —> A Cets | o (i) CaHsMg Br/ether
AlCl; (if) Hz0" AlCl3 {ii) H:0*
The product ‘C’ is - @R ‘C’' ' —
(1) CH3—C— CeHs (2) OH (1) CH3—C— Ce¢Hs (2) OH
g ! _ I | |
CHi—¢CH — Ol CHi—~CH — Cills
(3) C2Hs (4) CHs —~CH — CiHi (3) C2Hs (4) CH: —CH — CéHs
CH: —(l: — CesHs (I)H CHs —C— CeHs (i)H
(I)H (!)H
(5) Question not attempted (5) IrgaiRd e
131. What will be the frequency of last line in the 131-613@\7]? ?ﬂ‘c@'q ¥ rgaa 2ol # aifgw X &
Lyman  Series of hydrogen spectrum Gﬂﬂﬁf 1 EFfY @R, R = 109700 cm-! %) ?
(L, R = 109700 e )7 (1) 145x10%s-! () 3.29 x 10'5s-!
(1) 1.45x 105! (2) 3.29 x 105!
@) Zero (4) 423 x 10155~ el (9423 % 10571
(5) Question not attempted (5) 3rgRa e
132. The change in bond order of the following 132 f=feiRaa aifferar & du w5 # gRads © —
reaction is - NO — NO*+e-
ﬁ?;:gge" B (1) 253.0 (2 309425
(3) 2.5t02.0 (4) 1.5t02.0 @) 2520 ) 1.5%2.0
(5) Question not attempted (5) FgaRa g
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133.

134.

135.

136.

137.

Which one of the following is the correct
expression for cryoscopic constant?

AHp  [ATpyg RTfmM,
1 = =
(1) Ke RxlOOO[ T2 ] @ K AHgys X1000
RTZM 2
(3) Kp=—"1"2 (@) Ke= "2l

AHfys x1000 AHgys.RX1000

(5) Question not attempted

Both BH3 and NH; are covalent compounds.
However, BH3 is a non-polar compound but NHj3
is polar. The reason is -

(1) Boron is metalloid while Nitrogen is non-
metal.

(2) BH; is symmetrical planar but NHj is
pyramidal in shape.

(3) Boron is solid and Nitrogen is a gas in free
state.

(4) Atomic size of Boron is smaller than that of
Nitrogen.

(5) Question not attempted

The protecting power of lyophilic colloidal

solution is expresses in terms of -

(1) Go_lc-l numF)er ' E3E

(2) Critical micelle concentration F:%

(3) Oxidation number [=l:vs

(4) Coagulation value

(5) Question not attempted

Which of the following is not a quantitative

analysis method in Analytical Chemistry?

(1) Salt analysis

(2) Volumetric analysis

(3) Gravimetric analysis

(4) Potentiometric analysis

(5) Question not attempted

In ' which = of . the

Chromatography, the components are separated

in the form of concentric circular zones?

following  Paper

(1) Ascending Chromatography

(2) Two Dimensional Chromatography

(3) Ascending-Descending Chromatography
(4) Radial Paper Chromatography

(5) Question not attempted

133. f=foRag el § 9 feaiafdy fRenie o1

134.

135.

136.

137.

el &uiep hIar &7

AHf  |ATgys RT?mM,
(1) K= —— = —=21{0) Kp=—I—1
Rx1000 [ T AHgys X1000
RT#M M, T?
3) Kfz__#. 4) KFZLL__
AHg,5.X1000 AHg,s.RX1000

(5) ar<iRa ueA

BH; 9T NH; 391 Weddore diftes 8| aaf,

BH: IR—gdig AT &, wafds NH; gd g

IHBT BRI & —

(1) 9RI9 SU—€Tg & STafdh AgIo g 2 |

(2) BH; &1 STHiT FHMAT FHATT € STafd NHs
I i AR 2

(3) IR S TAT ATSCIS Wa = g § 9
=

(4) IR BT TRATIER ATHR TSSO BT Jor1l
H BleT 8|

(5) rgRa g

59 WIEl Ficiss! faaae $1 Reor ef|ar &1 fba

U @ gNT 3ifendd fbar oiar 27

(1) urie

(2) wifaes Bad Arsar

(3) affaITHROT 3fh

(4) ¥p—<d A4

(5) srgaRa we=

frefofaa # 9 o= fQeavoree e

O & 9=ree v fafy =g 87

(1) wrqor fagergor

(2) sraa=tHfT fagergor

(3) wrfAfy fagaryor

(4) fawafafa fagemgor

(8) argaRa ued

rafalRea #§ & 5w TR aoiafRasd § gl

BT YAFHRYN Hw! g &3 & w9 H ST 87

(1) IRE qoferRaay

(2) fzfria aofeRaat

(3) IRIEI—ITaRIET gofeifRaesy

(4) Brog TR goiaRaat

(8) srgaRd U=
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138.

139.

140.

141.

Match the colloids given in Column-I to the
types of colloids given is Column-II and choose

the correct answer from the code given below -

Column-I Column-I1
(Colloids) (Types of colloids)
(A) Butter (i) Aerosol

(B) Cloud (11) Emulsion

(C) Hair cream (1i1) Gel

(D) Soap Lather (iv) Foam

Code -

(1) (A)-(1), (B)-(i1), (C)-(iii), (D)-(iv)
(2) (A)-(iid), (B)-(ii), (C)-(1), (D)-(iv)
(@) (A)-(1), (B)-(iiD), (C)-(ii), (D)-(iv)
(4) (A)-(iii), (B)-(1), (C)-(ii), (D)-(iv)
(5) Question not attempted

Elevation in the boiling point for 1 molal

solution of glucose is 2K. The depression in the
freezing point for 2 molal solution of glucose in
the same solvent is 2K. The relation between
Ky and Kyis -

(1) Kp=1.5Ks (2) Ky =0.5 Ks

(3) Kp= Kr (4) Kv =2 Ks

(5) Question not attempted

For the equal molar concentration of glucose,
NaCl, BaClz and AICls, the decreasing order of
measured colligative property is -

(1) Glucose > NaCl > BaCl; > AlICl3 EaE
(2) Glucose > AICl; > BaCl; > NaCl E‘ﬁ%
(3) AICI3 > BaCl, > Glucose > NaCl

(4) AICI; > BaCl, > NaCl > Glucose

(5) Question not attempted

The reproducibility among replicate
measurements is -

(1) Error

(2) Absolute error

(3) Precision

(4) Accuracy

(5) Question not attempted

138.

139.

140.

141

Bfem—1 # AU ¢ dicisgd &1 GHAA
Dic—I1 § Ay 7 Blalzsd & IHR A D]
wd A R & @ # F |E SR BT A
P —

PiaAa—1 BiaA—I1
(PIeiizs) (Pleilggd & THNR)
(A) ARG (i) R

(B) 9Tedl (i) $HEA

(C) STl @1 I (iii) =i

(D) @IgT & AT (iv) B

EC\R s

(1) (A)-(1), (B)-(ii), (C)-(iii), (D)-(iv)

(2) (A)-(ii1), (B)-(i1), (C)-(1), (D)-(iv)

(3) (A)-(), (B)-(iii), (C)-(ii), (D)-(iv)

(@) (A)-(iii), (B)-(1), (C)-(ii), (D)-(v)

(5) rg<ifRa U=

H D 1 Al Ao &1 Faieas "\3"-:['-!1?{‘
2K 8| Toblal & 2 Hiddd fderad @1 Sl
facmae ¥ fR9ie a@=ma 2K &1 Ko d27 Ke &

T G 8§ — 1

(1) Ky =1.5 Kr (2) Ky, =0.5Ks l
(3) Kp= K¢ 4) Kpy=2Ks
(5) srgaRa wed

7@, NaCl, BaCl, G2 AICL &1 FHF AleiR
ATl & [ S[AT YU BT Hedl g3l Y
T -

(1) 7T > NaCl > BaClz > AlCl3

(2) 71T > AlCIs > BaCls > NaCl

(3) AICIs > BaCl; > @16l > NaCl

(4) AICI3 > BaCl, > NaCl > eIl

(5) Srg<IRd UeA

- GIRIG AT H gEedredhdl g —

) 5

() PR 3R
(3) uRgpar
(4) Terefar

(5) argRd ugH
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142. Match Column-I (ore) with Column-1I (metal) — 142 BiciH—| (374%p) T gHAA DieE—Il (@) &

Column-I Column-II e S
(Ore) (Metal) et e
(A) Siderite () Zn (3rrep) :
i . (A) RrexTSe (i) Zn
(B) Kaolinite (1) Cu (B) BTN (i) Cu
©) Ma]acl.llte Qu) Fe (€3 (iii) Fe
(D) Calamine o (iv) Al (D) e (iv) Al
The correct option is - 2 freeg & —
() (&) - @, (B) - i), () - (), O) - () (1) (A) - (i), (B) - (ii). (C) - (iv). (D) - (i)
@) (A) - (@iv), (B) - (i), (C) - (i), (D) - (iii) () (A) - (iv), (B) - (ii), (C) - (i), (D) - (iii)
() (A) - (iv), (B) - (iii), (C) - (ii), (D) - (i) (3) (A) - (iv), (B) - (iii), (C) - (ii), (D) - (i)
(@) (A) - (iii), (B) - (iv), (C) - (ii), (D) - (i) (4) (A) - (iii), (B) - (iv), (O) - (ii), (D) - (i)
(5) Question not attempted (5) IrgxIRdT uzA _
143. In the following reaction 143. fop=ferfRaa GTFJ\-II_fIai?JT H
e cii;.lilgm S Bre af:a = B
With Zn - Hg/ Conc. HCI as reducing agent, it Zn - Hg T 9T HCl &1 30906 & w0 3
would not be possible to prepare the following o o f=foReg & 9 o Uohe bl g1
alkane - 99 F8] 81T —
(1) neopentane (1) =
(2) isopentane g% (2) srzEIU=H
(3) 2, 2-Dimethylbutane & @) 2, 2-srgf@ersd &geA
(4) n-pentane (4) n-U=H
(5) Question not attempted (5) (ﬂﬂ?—]ﬁ(—[ SECH
144. What is Barfoed’s reagent and which type of 144. 9qrp1gs aifds @1 & ol 39 oeds @
carbohydrate can be identified through this AeTH W 5 UeR @ sreaERse @ ygue @
reagent? ST 87
(1) cuprous acetate in acetic acid solution, (1) vRifcs s fdemm I UHIee,
monosaccharides BRI EANESS

(2) cuprous acetate in acetic acid solution, @) vfafes sra faormm # TYad  VHICE,

disaccharides I é Eay gS
() cupric acetate in acetic acid solution, (3) QI@?I%EIS s fdema 3 s e,

disaccharides SEUBRISS

(4) cupric acetate in acetic acid solution, @) Wifed st faerms e e,
monosaccharides AT BRIgS

(5) Question not attempted () srgafa ye

145. 6 Fe?* + FeCr,02~ + 14H* — 6Fe3+ + 2Cr3* + 7H,0 145. 6 Fe?* + Cr, 02~ + 14H* — gRe3+ + 2Cr®** + 7H,0

The above reaction is an example of - SWRIF IAMAfBAT T Serawor & —

(1) Oxidation-reduction titration (1) 3TRABIT — gy STTHITA &7

(2) Neutralisation titration (2) SeriEvor STTHI BT

() Complexometric titration () Fraady AT T

::; Iodometric titration (4) 3;1—;1@% ST T
Question not attempted (5) 3raRa ysg
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146.

In HPLC, a separation that employs the single
solvent of constant composition is termed as -
(1) Pressure Elution  (2) Isocratic Elution

(3) Mixed Elution (4) Gradient Elution

(5) Question not attempted

146. ypLC #, ggsvol f5ad g Rer <ued drel

facras oM ¥ o S 8, d8adr 8 —

(1) <ra fHefre = (2) szl MereE
() fAfsra Fere= (4) ufege FHereE

(5) gk g

147. In which of the following respect HPLC is more  147- famifoiRaa # & fay Ha™ # HPLC, GLC &1 garel
versatile than GLC? H i gl 27
(1) It can accommodate thermally unstable, non- (1) 78 HoT w7 4 34'\‘324Tﬁ’f srarsreiiel ATt
volatile compounds and inorganic ions. %ﬁf SFRTD AT DT FHTANTT PR Hbell
(2) It is limited to volatile substance.
(3) It is limited to thermally stable substances (@ ¥z Froriret wered o A < |
‘ (3) I8 ST ©U 9 = ygrel 9% AT 2|
(4) The choice of mobile and stationary phases @) TR 3k ReR UM BT e a®
is not wide. 5T A
(5) Question not attempted (5) Irg<iRa ue
148. According to Bate-Smith and Westall in a  148-qe—Reer &k dEfal & AR TH quicig #
chromatogram Ry is defined as - Rm &1 a9 far S & —
(1) Ry = (Rif+ 1) (@ Ry=log (le-!- 1) (1) Ry = (E1;+ 1) (2 Ry=log (%f+ 1)
@) Ry = (Rif—~ 1) (4) Ry = log (-Rif - 1) (3) Ry = (Rif = 1) @) Ry = log (Rif ~1)
(5) Question not attempted (5) ergafRd ue
149. I salt analysis, Group-V cations are precipitated ~ 149- &@or fazewor §, G-V & g PEFC &
as their carbonates. Choose the correct reagent w9 ¥ sgafg B & F=faRea § @ Ca
used for confirmation of Ca®* ions from the =t @ Rifeaar @ fow 98 sifeds gg-
following - (1) Iy Asge
(1) Ammonium nitrate OE 0] (2) gy sitearee
(2) Ammonium oxalate g% @) Srfraw P
(3) Potassium carblor;late il S T
(4) Ammonium sulphate
(5) Question not attpempted (5) SR T
© 150. Calculate pH of a weak acid HA, if the degree of 150. g5 gdel 3T HA @ pH @1 9T DHITY ?Jﬁ
dissociation of one litre 1M solution being 1% - TP oex 1M e & faged 2 qET 1% ® -
(M 2.0 (2) 3.5 (1 2.0 (2 35
(3) 4.0 4 1.5 (3) 40 4 15
(5) Question not attempted (5) ergalRa we
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